
BIOLOGY

BOOKS - S DINESH & CO BIOLOGY (HINGLISH)

ANATOMY OF PLANT PARTS

Multiple Choice Questions

1. when secondary occurs, girth of stem increases. Cambial ring increases

in diameter due to

A. periclinal deivision and radial elongation of cambial cells

B. anticlinal divison and radial eleongations of cambial cells

C. both periclinal and anticlinal divisons and radial elongation of

cambial cells

D. radial elongation of cambium cells along.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Gr6PrKTj9Rfr


Answer: b

View Text Solution

2. interfasicular cambium is situated

A. between xylem and phloem

B. betweenvascular bundles.

C. outside the vascular bundles

D. inner side of the vascular bundles.

Answer: b

Watch Video Solution

3. Interfascicular cambium develops from the cells of

A. cortex

https://dl.doubtnut.com/l/_Gr6PrKTj9Rfr
https://dl.doubtnut.com/l/_O3BbTwnUMA4S
https://dl.doubtnut.com/l/_6Havanw8rw2t


B. pith

C. pericyle

D. medullary rays.

Answer: d

Watch Video Solution

4. bulliform or motor cells are present on

A. root

B. stem

C. isobilateral leaf

D. dorsiventral leaf.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_6Havanw8rw2t
https://dl.doubtnut.com/l/_M8KAsmVBgSKW
https://dl.doubtnut.com/l/_wylo48fdm8C3


5. bulliform cell differ from other cells in being

A. large, thin-walled, contain containing water

B. large, thick-walled, contain abundant chloroiplasts

C. small thick - walled, contain starch

D. small,thin -walled, contain calcium oxalate

Answer: a

Watch Video Solution

6. the formation of annual rings in dicot stem mainly depends upon

difference in

A. formation of unequal quantities of xylem and phloem

B. acitvity of vascular cambian due to seasonal varations

C. activity of cork cambium due to seasonal variations

D. formation of unequal quantities of sapwood and heart wood.

https://dl.doubtnut.com/l/_wylo48fdm8C3
https://dl.doubtnut.com/l/_9Smq7mIQn3qf


Answer: b

Watch Video Solution

7. each annual ring or growth ring consists of two strips of

A. autumn wood and spring wood

B. heart wood sap wood

C. xylem and phloem

D. cork and cortex

Answer: a

Watch Video Solution

8. in the veins of leaves. The pholem is situated towards

A. upper epidermis

https://dl.doubtnut.com/l/_9Smq7mIQn3qf
https://dl.doubtnut.com/l/_9XWT0oInh8sk
https://dl.doubtnut.com/l/_WYz2NjQbeYCB


B. lower eqidermis

C. all round the xylem

D. lateral to xylem

Answer: b

Watch Video Solution

9. in spring (rainy summer) the activity of vascular cambium is

A. more

B. less

C. normal

D. none of the above.

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_WYz2NjQbeYCB
https://dl.doubtnut.com/l/_d6AS4GtJxSbq
https://dl.doubtnut.com/l/_rvrXQtW396uS


10. Alternate name of heart wood is

A. duramen

B. alburnum

C. primary xylem

D. spring wood

Answer: a

Watch Video Solution

11. Heart wood or duramen is

A. outer part of secondary xylem

B. inner part of secondary xylem

C. outer part of secondary pholem

D. inner part of secondary phloem

https://dl.doubtnut.com/l/_rvrXQtW396uS
https://dl.doubtnut.com/l/_lOgU6nX3oN7l


Answer: b

Watch Video Solution

12. the wood of commerce is

A. sap-wood (alburnum)

B. heart wood( duramen)

C. spring wood

D. autumn wood

Answer: b

Watch Video Solution

13. the endarh condition is characteristic of

A. root

https://dl.doubtnut.com/l/_lOgU6nX3oN7l
https://dl.doubtnut.com/l/_E0l8WT2781H3
https://dl.doubtnut.com/l/_mvW9GSUpl03b


B. stem

C. leaves

D. petiole

Answer: b

Watch Video Solution

14. dicot root differs from monocot root in

A. fewer number of radial vascular bundles with small pith

B. large number of radial vascular bundles with large pith

C. fewer number of radial vascular bundles with large pith

D. large number of radial vascular bundles with small pith.

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_mvW9GSUpl03b
https://dl.doubtnut.com/l/_0K1ZtrN80MAm
https://dl.doubtnut.com/l/_FuR25IHBH0mY


15. multiseriate vascular rays eare present opposte the protoxylem in old

A. dicot stems

B. dicot roots

C. monocot stems

D. monocot roots

Answer: b

View Text Solution

16. Passage cells are present in

A. cortex

B. pericyle

C. pith

D. endodermis

https://dl.doubtnut.com/l/_FuR25IHBH0mY
https://dl.doubtnut.com/l/_nJDydbhVQ5vZ


Answer: d

Watch Video Solution

17. which one of the following has dead cells

A. collenchyma

B. chlorenchyma

C. periderm

D. endodermis

Answer: c

Watch Video Solution

18. the outer cellular complex present on the outside of those stems and

roots which have undergone secondary growth is

https://dl.doubtnut.com/l/_nJDydbhVQ5vZ
https://dl.doubtnut.com/l/_2fI56kN9E60M
https://dl.doubtnut.com/l/_1dRQjXevsOLg


A. periderm

B. epiblema

C. phelloderm

D. phellogen

Answer: a

Watch Video Solution

19. pericycle that gives rise to lateral roots is made of

A. meristematic

B. epiblema

C. phelloderm

D. phellogan

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_1dRQjXevsOLg
https://dl.doubtnut.com/l/_nY1sHDFfyShH


20. pith and cortex of the stem are parts of

A. dermal tissue system

B. vascular tissue sytem

C. ground tissue sytem

D. epidermal tissue system

Answer: c

Watch Video Solution

21. Age cannot be determined by counting rings in the trees of

A. temperate deciduous forests

B. temperate evergreen forests

C. tropical deciduous forests

https://dl.doubtnut.com/l/_nY1sHDFfyShH
https://dl.doubtnut.com/l/_WK2LrlD8hvxY
https://dl.doubtnut.com/l/_EfeDimZe9JjM


D. tropical evergreen forests.

Answer: d

Watch Video Solution

22. central resion -clogged secondary xylem is

A. central wood

B. heartwood

C. alburnum

D. hardwood

Answer: b

Watch Video Solution

23. a vascular bundle having both xyolem and pholem is

https://dl.doubtnut.com/l/_EfeDimZe9JjM
https://dl.doubtnut.com/l/_tnCXjdcZaemU
https://dl.doubtnut.com/l/_plVS2OqL1G25


A. concentric

B. collateral

C. radial

D. conjoint

Answer: d

Watch Video Solution

24. perimary stem is

A. main stem

B. stem having distinct nodes s

C. stem having only primary tissues

D. stem having branches.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_plVS2OqL1G25
https://dl.doubtnut.com/l/_GKZZQdYP9rQL


25. oldest part of phloem in a dicot stem jis situated just

A. outside vascular cambium

B. inner to primary cortex

C. inner to vascular cambium

D. between periderm and primary cortex.

Answer: b

Watch Video Solution

26. inner-most layer of cotex is

A. pericycle

B. endodermis

C. hypodermis

https://dl.doubtnut.com/l/_GKZZQdYP9rQL
https://dl.doubtnut.com/l/_sAAG1t2VywLk
https://dl.doubtnut.com/l/_M2AUkBP7GA3n


D. none of the above

Answer: b

Watch Video Solution

27. ground tissue having differentiated concentric layers is found in

A. dicot leaf

B. monocot leaf

C. dicot stem

D. monocot stem

Answer: c

Watch Video Solution

28. cortex lies between

https://dl.doubtnut.com/l/_M2AUkBP7GA3n
https://dl.doubtnut.com/l/_odrXndX8vDuV
https://dl.doubtnut.com/l/_ddrnK7pbsC7s


A. epiedermis and endodermis

B. endodermis and pith

C. hypodermis and endodermis

D. epidermis and stele.

Answer: d

Watch Video Solution

29. endodermis is not differentiated in

A. monocot root

B. dicot roots

C. monocot stems

D. dicot stem.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_ddrnK7pbsC7s
https://dl.doubtnut.com/l/_ju7utcnd6ZJK


30. fibrovascular bundles or vascular bundles covered bt

sclerenchymatous sheath are found in

A. monocot leaf

B. monocot stem

C. monocot root

D. dicot stem.

Answer: b

Watch Video Solution

31. A.T.S. of dicot stem shows

A. vascular bundles arranged in a ring

B. scattered vascular bundles.

C. closed vascular bundles

https://dl.doubtnut.com/l/_ju7utcnd6ZJK
https://dl.doubtnut.com/l/_7XwprvC7XyEv
https://dl.doubtnut.com/l/_BMjBOw41f7je


D. radial vascular bundles.

Answer: a

Watch Video Solution

32. number of cambial strips in a vascular bundle of cucurbita stem is

A. 1

B. 3

C. 2

D. 4

Answer: c

Watch Video Solution

33. secondary growth is the production of

https://dl.doubtnut.com/l/_BMjBOw41f7je
https://dl.doubtnut.com/l/_gjwUQs1J8aXr
https://dl.doubtnut.com/l/_FxtGpisrIA7n


A. new tissues from intercalary meristem

B. new conducting cells

C. new tissues from lateral meristem

D. new ground cells.

Answer: c

Watch Video Solution

34. xylem and phloem occurring on the same radius constitute a vascular

bundle called

A. radial

B. conjoint

C. collateral

D. bicollateral.

Answer: c

https://dl.doubtnut.com/l/_FxtGpisrIA7n
https://dl.doubtnut.com/l/_5APPgzBk9qhG


Watch Video Solution

35. in stem cork cambium orginates from some

A. outer cells of cortex

B. fascicular and interfascicular cambium

C. inner cell of cortex

D. endodermis

Answer: a

Watch Video Solution

36. complementary cells of lenticels are

A. phellem

B. phelloderm

C. endodermis

https://dl.doubtnut.com/l/_5APPgzBk9qhG
https://dl.doubtnut.com/l/_ESMFxQ6uF0Vd
https://dl.doubtnut.com/l/_SngzyoP1XsW5


D. phellogen

Answer: d

Watch Video Solution

37. complementary cells of lenticels are

A. compact and suberised

B. loose and non-suberised

C. compact and lignified

D. loose and lignified

Answer: b

Watch Video Solution

38. many grass leaves are capable of folding and unfolding due to

https://dl.doubtnut.com/l/_SngzyoP1XsW5
https://dl.doubtnut.com/l/_OfJqLKliqK3K
https://dl.doubtnut.com/l/_pYsGwFDRHQXa


A. parallel veins

B. isobilateral nature

C. thin lamina

D. bulliform cells.

Answer: d

Watch Video Solution

39. cucurbita stem is an exceptional dicot stem because it has

A. bicollateral bundles

B. bicollateral bundles and several layered thick pericyle

C. bicollateral bundles and hollow centre

D. bicollateral bundles arranged in two alternate rings

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_pYsGwFDRHQXa
https://dl.doubtnut.com/l/_fAwwU1FlBY5f


40. major funcation of cortex is

A. conduction of water

B. storage of water

C. storage of food

D. strength

Answer: c

Watch Video Solution

41. A dorsiventral leaf has

A. palisade tissue on both sides

B. spongy tissue on both sides

C. palisade tissue on upper side and spongy tissue on lower side

https://dl.doubtnut.com/l/_fAwwU1FlBY5f
https://dl.doubtnut.com/l/_uDT3AVHJKVuf
https://dl.doubtnut.com/l/_nADm4Zy8VNSj


D. spongy tissue on upper side and palisade tissue on lower side

Answer: c

Watch Video Solution

42. in autumn,cambium is

A. inactive

B. less active

C. more active

D. killed

Answer: b

Watch Video Solution

43. annual rings can be useful for indicating age of the tree

https://dl.doubtnut.com/l/_nADm4Zy8VNSj
https://dl.doubtnut.com/l/_VbPWlrJ6rmth
https://dl.doubtnut.com/l/_4Mb9jbUQi3CC


A. dicot of equatorial region

B. monocot of equatorial region

C. dicot of temperate region

D. monocot of temperate area.

Answer: c

Watch Video Solution

44. autumn wood is distinguishable from spring wood in having

A. narrow tracheary elements

B. broader tracheary elements

C. lighter colour

D. cambium

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_4Mb9jbUQi3CC
https://dl.doubtnut.com/l/_5P0uDZMqq2QX


45. vascular strand having numberous scattered fibrovascular bundles is

A. eustele

B. atactostale

C. polycyclie stele

D. dictyostele

Answer: b

Watch Video Solution

46. A cavity present in vascular bundles of maize is formed by

A. degeneration of xylem parenchyma

B. replacement of phloem parenchyma

C. disruption of protoxylem

https://dl.doubtnut.com/l/_5P0uDZMqq2QX
https://dl.doubtnut.com/l/_GhyzJJDOVGEg
https://dl.doubtnut.com/l/_vT5i13EdfQrM


D. dissolution of cells between metaxylem vessels.

Answer: c

Watch Video Solution

47. spongy parenchyma is arranged in

A. one layer

B. loosely arranged

C. compactly arranged

D. regularly arranged around large cavities.

Answer: b

Watch Video Solution

48. the other term for annual ring is

https://dl.doubtnut.com/l/_vT5i13EdfQrM
https://dl.doubtnut.com/l/_z3nevGOChBYk
https://dl.doubtnut.com/l/_UOJ2JUHzgrNs


A. annual xylem

B. annual wood

C. growth strip

D. growth ring

Answer: d

Watch Video Solution

49. Complementary cells are found in

A. lenticles

B. pholem

C. endodermis of monocot stems

D. exodermis

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_UOJ2JUHzgrNs
https://dl.doubtnut.com/l/_AFWHBenwHK4x


50. exodermis occurs in

A. monocot occurs in

B. monocot root

C. dicot root

D. leaf

Answer: a

View Text Solution

51. casparian strip is

A. lens -like thickenings of endodermal cells

B. strip of thickening found on the outer side of endodermis

C. lingo-suberin band running in endodermal cell walls.

https://dl.doubtnut.com/l/_AFWHBenwHK4x
https://dl.doubtnut.com/l/_nhdebQs2l22U
https://dl.doubtnut.com/l/_JG27shOQZaVZ


D. layer of cells between endodermis and cortex.

Answer: c

Watch Video Solution

52. endodermis acts as biological check post and prevents wall flow of

materials becouse it has

A. casparian strips

B. barrel-shaped cells

C. passage cells

D. specialised thickenings

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_JG27shOQZaVZ
https://dl.doubtnut.com/l/_RW5FW4VOTE8Z


53. endodermis occurs in

A. stems only

B. roots only

C. dicots stems and all types of roots

D. both monocot and dicot stems as well as roots.

Answer: c

Watch Video Solution

54. tissue found between xylem and phloem bundles of a root is

A. vascular parenchyma

B. parenchyma

C. conjuncative meristem

D. conjuctive parenchyma

https://dl.doubtnut.com/l/_ZCXgUUvFjkJA
https://dl.doubtnut.com/l/_aE7PK2PF6yzO


Answer: d

Watch Video Solution

55. in isobilateral leaves

A. lower surface is brighter green

B. upper surface is lighter green

C. both the surface are equally green

D. upper surface is dark green while the lower surface is lighter green

Answer: c

Watch Video Solution

56. in dosiventral leaves

A. upper surface is dark green as compared to lower surface

https://dl.doubtnut.com/l/_aE7PK2PF6yzO
https://dl.doubtnut.com/l/_YnfPOPwc2ggs
https://dl.doubtnut.com/l/_5blaAcUVkX45


B. both the surface are equally green

C. lower surface is dark green

D. both the surfaces are dark green.

Answer: a

Watch Video Solution

57. medullary rays are extra prominent in

A. monocot stem

B. dicot stem

C. young dicot root

D. old dicot root

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_5blaAcUVkX45
https://dl.doubtnut.com/l/_AJ9ZGTRzJx3U
https://dl.doubtnut.com/l/_ynUq2EPuESYh


58. vascular bundles of typical leaves are

A. collateral and closed

B. collateral and open

C. conjoint and concentric

D. radial

Answer: a

Watch Video Solution

59. in an old stem, the oldest seconedary xylem is found just

A. inner to vascular cambium

B. outside primary xylem

C. outside vascular cambium

D. inner to phellogen.

https://dl.doubtnut.com/l/_ynUq2EPuESYh
https://dl.doubtnut.com/l/_A9sMo6Fk4oq7


Answer: a

Watch Video Solution

60. for bottle cork, the latter is cut in such a way that lenticels appear.

A. vertically

B. obliquely

C. transversely

D. blocked

Answer: a

Watch Video Solution

61. scaly bark occurs in

A. eucalyptus

https://dl.doubtnut.com/l/_A9sMo6Fk4oq7
https://dl.doubtnut.com/l/_mWBrOUlYZxEU
https://dl.doubtnut.com/l/_sAqomMYyQ6pQ


B. betula

C. psidium

D. tectona

Answer: c

Watch Video Solution

62. in submerged hydrophytes,the stems are extremely weak due to

A. absence of phloem

B. absence of xylem

C. presence of aerenchyma

D. poor development of xylem and mechanical tissue.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_sAqomMYyQ6pQ
https://dl.doubtnut.com/l/_iyCX8J2lbfYD
https://dl.doubtnut.com/l/_Bzx4ivutRIUO


63. outer layer of brack is

A. epidermis

B. rhytidome

C. phelloderm

D. lenticel

Answer: b

Watch Video Solution

64. in monocots, the guard cells are

A. dumb-bell -shaped

B. reniform

C. spherical

D. isodiamatric

https://dl.doubtnut.com/l/_Bzx4ivutRIUO
https://dl.doubtnut.com/l/_PCJ8zUViKwok


Answer: a

Watch Video Solution

65. rolling grass is

A. agropyron

B. ammophila

C. poa

D. all the above.

Answer: d

View Text Solution

66. epistomatic leaf is

A. nymphaea

https://dl.doubtnut.com/l/_PCJ8zUViKwok
https://dl.doubtnut.com/l/_H0BxqMUHjWUy
https://dl.doubtnut.com/l/_TtvSOkk0PhXN


B. nelumbo

C. victoria

D. all the above.

Answer: d

Watch Video Solution

67. in dicot stem, the pericyel ois

A. single layered

B. multilayered

C. two layered

D. Absent

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_TtvSOkk0PhXN
https://dl.doubtnut.com/l/_Ey7GMJvjwdYn
https://dl.doubtnut.com/l/_YmMtvyRkCY6t


68. in root, the pericycle is

A. single layered

B. two layered

C. three layered

D. multilayered

Answer: a

Watch Video Solution

69. in monocot stem, the pericycle is q

A. indistinguishable

B. one layered

C. three layered

D. multilayered

https://dl.doubtnut.com/l/_YmMtvyRkCY6t
https://dl.doubtnut.com/l/_nsrot1BPN7qi


Answer: a

Watch Video Solution

70. dicot root having more than six vascular bundles is

A. pea

B. sunflower

C. ficus

D. ranunculus

Answer: c

Watch Video Solution

71. both a dicot root and monocot root possess six vascular bundles.the

two can be distinguished by

https://dl.doubtnut.com/l/_nsrot1BPN7qi
https://dl.doubtnut.com/l/_m5nXLcNLrldy
https://dl.doubtnut.com/l/_ZktDoe1CeV5H


A. presence of lysigenous cavity in monocot root

B. occurrence of more metaxylem vessels in dicot root

C. presence of exarch condition in monocot root

D. outline of vessels.

Answer: d

Watch Video Solution

72. rinh bark occurs in

A. psidium

B. eucalyptus

C. acacia

D. all the above.

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_ZktDoe1CeV5H
https://dl.doubtnut.com/l/_oY044HtCdd96


73. in betula the bark is

A. ring bark used writing

B. scaly bark used for writing

C. ring bark used as a masticatory

D. ring bark used as a spice

Answer: a

Watch Video Solution

74. porous wood is characterised by

A. absence of tracheids

B. presence of vessels

C. absence of vessels

https://dl.doubtnut.com/l/_oY044HtCdd96
https://dl.doubtnut.com/l/_kkSAI2IjgIxy
https://dl.doubtnut.com/l/_GdKEd3GYLI8n


D. presence of sieve tube

Answer: b

Watch Video Solution

75. gymnosperm wood is non-porous becouse it

A. lacks vessels

B. contains tracheae

C. has abundant fibres

D. contains no fibres.

Answer: a

Watch Video Solution

76. isobilateral leaves have stomata on

https://dl.doubtnut.com/l/_GdKEd3GYLI8n
https://dl.doubtnut.com/l/_OCWl942BoGEy
https://dl.doubtnut.com/l/_3DSET9txpVDD


A. both upper and lower surfaces

B. upper surface only

C. lower surface only

D. none of the surfaces.

Answer: a

Watch Video Solution

77. stomatal crypts are found in the leaf of

A. sunflower

B. oleander

C. maize

D. nymphaea

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_3DSET9txpVDD
https://dl.doubtnut.com/l/_vVRubPVOcqmi


78. thin-walled large cells present in the leaf epdiermis, and capable of

contraction and expansion are

A. guard cells

B. subsidiary cells

C. gland cells

D. bulliform cells.

Answer: d

Watch Video Solution

79. an undifferentiated mesophyll is found in

A. isobilateral leaves

B. dorsiventral mesophytic leaves

C. dorsiventral xerophytic leaves

https://dl.doubtnut.com/l/_vVRubPVOcqmi
https://dl.doubtnut.com/l/_Uh5FgfO6oKCc
https://dl.doubtnut.com/l/_JWbOlon1rGu9


D. vertical leaves.

Answer: a

Watch Video Solution

80. radial vascular bundles are those in which

A. xylem is surrounded by phloem

B. phloem is surrounded by xylem

C. xylem and phloem occur on the same radius

D. xylem and phloem are found pm different radii.

Answer: d

Watch Video Solution

81. sap-wood is

https://dl.doubtnut.com/l/_JWbOlon1rGu9
https://dl.doubtnut.com/l/_B64TU8b0gNyR
https://dl.doubtnut.com/l/_zOTCbjUsybwD


A. outer funcational part of secondary xylem

B. inner nonfuncational part of secondary xylem

C. outer as well inner part of secondary xylem

D. none of the above.

Answer: a

Watch Video Solution

82. periderm includes

A. cork cambium ( phellogen) cork (phellem) and secondary cortex (

phelloderm)

B. cork cambium and cork

C. cork

D. cork and secondary phloem

Answer: a

https://dl.doubtnut.com/l/_zOTCbjUsybwD
https://dl.doubtnut.com/l/_rlWzoCaWhlbw


Watch Video Solution

83. As secondary growth proceeds, in a dicot stem, the thickness of

A. heart wood increases

B. sap-wood increases

C. both increase

D. both decrease

Answer: c

Watch Video Solution

84. The bark of tree comprises

A. all the tissues outside the vascular cambium

B. all the tissues outside the cork cambium

C. only the cork

https://dl.doubtnut.com/l/_rlWzoCaWhlbw
https://dl.doubtnut.com/l/_MpexgZ69BFyY
https://dl.doubtnut.com/l/_uapQomrr69oP


D. the cork and secondary cortex.

Answer: a

Watch Video Solution

85. The best method to determine the age of tree is

A. measure its diameter

B. count the number of leaves

C. count the number of annual rings at the base of main stem

D. find out the number of branches.

Answer: c

Watch Video Solution

86. radial vascular bundles occur in

https://dl.doubtnut.com/l/_uapQomrr69oP
https://dl.doubtnut.com/l/_jcTWljMgomGA
https://dl.doubtnut.com/l/_rOjWgfs3mqig


A. stem

B. monocot stem

C. dicot stem

D. root

Answer: d

Watch Video Solution

87. Xylem fibre is

A. heart wood

B. wood fibre

C. libriform fibre

D. bast fibre

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_rOjWgfs3mqig
https://dl.doubtnut.com/l/_rvLYUoPQqkOc


88. Youngest layer of secondary xylem in wood of dicot stem is located

just

A. outside the cambium

B. inside the cambium

C. outside the pith

D. inside the cortex.

Answer: b

Watch Video Solution

89. xylem in dorsiventral leaves is directed towards

A. upper epidermis

B. lower eqidermis

C. surrounds phloem

https://dl.doubtnut.com/l/_rvLYUoPQqkOc
https://dl.doubtnut.com/l/_U4T6KCuL7RvG
https://dl.doubtnut.com/l/_0E9ltX5OiPhh


D. surrounded by phloem

Answer: a

Watch Video Solution

90. Wood is a common name of

A. cambium

B. vascular bundles

C. phloem

D. secondary xylem

Answer: d

Watch Video Solution

91. Well developed pith is found in

https://dl.doubtnut.com/l/_0E9ltX5OiPhh
https://dl.doubtnut.com/l/_OzTAxiuj44Az
https://dl.doubtnut.com/l/_Gd1estteETKy


A. monocot root and monocot stem

B. monocot stem and dicot root

C. monocot root and dicot stem

D. dicot root and dicot stem

Answer: c

Watch Video Solution

92. vascular bundles in dicot stem are

A. open, collateral, endarch

B. closed, collateral,endarch

C. open , collateral,exarch

D. closed, collateral, exarch.

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_Gd1estteETKy
https://dl.doubtnut.com/l/_UK1RWEU4Q59X


93. The waxy substance associated with cell walls of cork cells is or cork

cells are imprevious to water becauce of the presence or what is

deposited on cork cells

A. cutin

B. suberin

C. lignin

D. hemicellulose

Answer: b

Watch Video Solution

94. vascular bundles in dicot root are

A. radial exarch

B. conjoint

https://dl.doubtnut.com/l/_UK1RWEU4Q59X
https://dl.doubtnut.com/l/_z2mKbB5XVJrq
https://dl.doubtnut.com/l/_RrB89t70gW7y


C. radial endarch

D. conjoint exarch

Answer: a

Watch Video Solution

95. cork/bottle cork is formed from

A. cork cambium ( phellogon)

B. vascular cambium

C. phloem

D. xylem

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_RrB89t70gW7y
https://dl.doubtnut.com/l/_O4307gI0tEap


96. The function of cork cambium (phellogen) is to produce

A. secondary xylem and sencondary phloem

B. cork and secondary cortex

C. secondary cortex and phloem

D. cork

Answer: b

Watch Video Solution

97. monocot root differs from dicot root in having

A. open vascular bundles

B. scattered vascular bundles.

C. well developed pith

D. radially arranged vascular bundles.

https://dl.doubtnut.com/l/_BmQfT32Nt865
https://dl.doubtnut.com/l/_Ea10u8649aPr


Answer: c

Watch Video Solution

98. where do the casparian bands occur

A. epidermis

B. endodermis

C. pericyle

D. phloem

Answer: b

Watch Video Solution

99. secondary growth occurs due to activity of

A. cork cambium

https://dl.doubtnut.com/l/_Ea10u8649aPr
https://dl.doubtnut.com/l/_laUTe3NoN0Wy
https://dl.doubtnut.com/l/_TsP2dqGgIURo


B. vascular cambium

C. intercalary meristem

D. both A and B

Answer: d

Watch Video Solution

100. growth/annual rings are formed by the activity of

A. cambium

B. xylem

C. phloem

D. both xylem and phloem

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_TsP2dqGgIURo
https://dl.doubtnut.com/l/_3g6g1DlSThL3
https://dl.doubtnut.com/l/_UugzG5OqW2m6


101. three radial vascular bundles are present in

A. monocot stem

B. monocot root

C. dicot stem

D. dicot root

Answer: d

Watch Video Solution

102. Tyloses are found in

A. secondary xylem

B. secondary phloem

C. callus tissue

D. cork cells.

https://dl.doubtnut.com/l/_UugzG5OqW2m6
https://dl.doubtnut.com/l/_JA9hzg532gsM


Answer: a

Watch Video Solution

103. largest number of chloroplasts in the leaf is in

A. spongy tissue

B. palisade tissue

C. guard cells

D. bundle sheath

Answer: b

Watch Video Solution

104. tyloses are

A. tracheal plugs which plug the lumen of the vessels and tracheids

https://dl.doubtnut.com/l/_JA9hzg532gsM
https://dl.doubtnut.com/l/_x2Gc87E8gZsD
https://dl.doubtnut.com/l/_cTL37f5OiKxh


B. compound sieve plates

C. specialised secretory cells

D. 

Answer: a

View Text Solution

105. phloem parenchyma is absent in

A. dicot root

B. dicot leaf

C. monocot stem

D. dicot stem.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_cTL37f5OiKxh
https://dl.doubtnut.com/l/_RDSgBp82gMrd
https://dl.doubtnut.com/l/_Xz2b3aazfdkM


106. in case of dicot roots the cork cambium derived from

A. hypodermis

B. epidermis

C. pericycle

D. cortex

Answer: c

Watch Video Solution

107. hypodermis in monocotyledonous stem is

A. parenchymatous

B. chlorenchymatous

C. collenchymatous

D. sclerenchymatous.

https://dl.doubtnut.com/l/_Xz2b3aazfdkM
https://dl.doubtnut.com/l/_x1gXfGK5RhAx


Answer: d

Watch Video Solution

108. The baloon like outgrowth of parenchyma in the lumen of a vessel is

known as

A. histogen

B. tyloses

C. phellogen

D. tunica

Answer: b

Watch Video Solution

109. exchange of gases between air and the internal tissues of older corky

stems takes place through

https://dl.doubtnut.com/l/_x1gXfGK5RhAx
https://dl.doubtnut.com/l/_sXOiWCAElIto
https://dl.doubtnut.com/l/_Rvv37nzDQFoT


A. sieve plates

B. pits

C. stomata

D. lenticels.

Answer: d

Watch Video Solution

110. dendrochronology is the study of

A. height of a tree

B. diameter of a tree

C. age of the tree by counting the number
of annual rings in the main

stem

D. none of these

Answer: c

https://dl.doubtnut.com/l/_Rvv37nzDQFoT
https://dl.doubtnut.com/l/_LyDXtA16Jysv


Watch Video Solution

111. in leaves, protoxylem (xylem) elements

A. face towards the adaxial side

B. face towards the abaxial surface

C. are surrounded by metaxylem

D. are scattered in the middle.

Answer: a

Watch Video Solution

112. Grafting is not possible in monocots because they

A. lack cambium

B. have scattered vascular bundles

C. have parallel venation

https://dl.doubtnut.com/l/_LyDXtA16Jysv
https://dl.doubtnut.com/l/_nOtAFrfcTBJ7
https://dl.doubtnut.com/l/_pSnxSNVpA9ol


D. are herbaceous

Answer: a

Watch Video Solution

113. conjoint,collateral, open and endarch vascular bundles are found in

A. monocot stem

B. monocot root

C. dicot root

D. dicot stem.

Answer: d

Watch Video Solution

114. Vascular bundles in dicot stem are

https://dl.doubtnut.com/l/_pSnxSNVpA9ol
https://dl.doubtnut.com/l/_bGXQFGcTY7ci
https://dl.doubtnut.com/l/_F6WpIofeQBai


A. concentric and open

B. concentric and closed

C. conjoint,collateral and closed

D. conjoint, collateral and open

Answer: d

Watch Video Solution

115. Knots in stems are formed due to

A. insect injury

B. growth of secondary tissue over wounds of fallen branches.

C. bacterial tumours

D. none of these

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_F6WpIofeQBai
https://dl.doubtnut.com/l/_ydkU8FWRXd7K


116. Lenticels are

A. scars on old stems

B. special stomata

C. arerating pores in bark

D. special stomata on hydrophytic plants.

Answer: c

Watch Video Solution

117. velamen found in epiphyic roots is meant for

A. absorption of water from host

B. absorption of water from air

C. perennation

https://dl.doubtnut.com/l/_ydkU8FWRXd7K
https://dl.doubtnut.com/l/_2Czm6FPWfzGO
https://dl.doubtnut.com/l/_uwzdFblfawKm


D. protection

Answer: b

Watch Video Solution

118. Lateral roots originate from

A. epiblema

B. pericycle

C. cortex

D. endodermis

Answer: b

Watch Video Solution

119. Centripetal xylem is the characteristic of

https://dl.doubtnut.com/l/_uwzdFblfawKm
https://dl.doubtnut.com/l/_yIomQ6KjELWN
https://dl.doubtnut.com/l/_nVaBOf0EGNAy


A. leaf

B. root

C. dicot stem

D. monocot stem

Answer: b

Watch Video Solution

120. origin of vegatative branch is

A. schizogenous

B. endogenous

C. exogenous

D. internal form intercalary meristem

Answer: c

View Text Solution

https://dl.doubtnut.com/l/_nVaBOf0EGNAy
https://dl.doubtnut.com/l/_u7cl1E3A906N


121. sunken stomata occur in

A. mesophytes

B. xerophytes

C. hygrophytes

D. hydrophytes.

Answer: b

Watch Video Solution

122. Mesophyll is differentiated in to palisade and spongy tissues in

A. extremely xerophytic leaves

B. hydrophytic leaves

C. monocot leaves

https://dl.doubtnut.com/l/_u7cl1E3A906N
https://dl.doubtnut.com/l/_f0uWYlRVpGyJ
https://dl.doubtnut.com/l/_TXa6flCgHHj3


D. dicot leaves.

Answer: d

Watch Video Solution

123. Bulliform or motor cells are present in

A. upper epidermis of dicot leaves

B. upper epidermis of monocot leaves

C. lower epidermis of monocot leaves

D. lower epidermis of dicot leaves.

Answer: b

Watch Video Solution

124. adventitious roots develop from

https://dl.doubtnut.com/l/_TXa6flCgHHj3
https://dl.doubtnut.com/l/_Gw3WNv3hXqFK
https://dl.doubtnut.com/l/_Vd9KqbTsk0cx


A. epidermis

B. pericycle or interfascicular parenchyma

C. cortex

D. endodermis

Answer: b

View Text Solution

125. innermost layer of cortex is

A. endodermis

B. epidermis

C. exodermis

D. hypodermis

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_Vd9KqbTsk0cx
https://dl.doubtnut.com/l/_e7J1b07af91Y


126. pericycle of roots produces

A. mechanical support

B. lateral roots

C. vascular bundles

D. adventitious buds

Answer: d

Watch Video Solution

127. vascular cambium forms one of the following on its inner side

A. bast fibres

B. sieve tubes

C. wood fibres

https://dl.doubtnut.com/l/_e7J1b07af91Y
https://dl.doubtnut.com/l/_rzgCEOwYe3VY
https://dl.doubtnut.com/l/_IVTKZdGsAv2E


D. companion cells

Answer: c

Watch Video Solution

128. For union between stock and scion in grafting which one is the first

to occur ?

A. formation of callus

B. production of plasmodesmata

C. differentiation of new vascular tissues

D. regeneration of cortex and edidermis

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_IVTKZdGsAv2E
https://dl.doubtnut.com/l/_DhgyqjO9yuK5


129. vascular cambium produces

A. primary xylem and primary phloem

B. secondary xylem and secondary phloem

C. primary xylem and secondary phloem

D. seconedary xylem and primary primary phloem

Answer: b

Watch Video Solution

130. polyarch and exach condition is found in

A. monocot stem

B. monocot root

C. dicot stem

D. dicot root

https://dl.doubtnut.com/l/_UnpfSfpv9BlS
https://dl.doubtnut.com/l/_oWe8mu4hvAbm


Answer: c

Watch Video Solution

131. radial vascular bundles occur in

A. stem

B. monocot root

C. dicot root

D. both monocot and dicot roots

Answer: d

Watch Video Solution

132. Exarch xylem is found in

A. leaf

https://dl.doubtnut.com/l/_oWe8mu4hvAbm
https://dl.doubtnut.com/l/_vNzaaQ5ZO5Ld
https://dl.doubtnut.com/l/_33DBuac6JLPW


B. petiole

C. stem

D. root

Answer: d

Watch Video Solution

133. meristem present in a vascular bundle is

A. fascicular/intrafascicular cambium

B. interfasciciular cambium

C. phellogen

D. procambium

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_33DBuac6JLPW
https://dl.doubtnut.com/l/_ODRTgG47DuUw
https://dl.doubtnut.com/l/_MCQLqeWF0P99


134. Fusiform initials form

A. vascular rays

B. primary phloem

C. tracheary elements

D. ray parenchyma.

Answer: c

Watch Video Solution

135. outer lighter coloured/alburnum region of wood is

A. autumn wood

B. spring wood

C. heart wood

D. sapwood

https://dl.doubtnut.com/l/_MCQLqeWF0P99
https://dl.doubtnut.com/l/_BtV5A0NeZnil


Answer: d

Watch Video Solution

136. Cork is impervious to water due to the presence of _______in its cell

wall.

A. cuticle

B. lignin

C. suberin

D. chitin

Answer: c

Watch Video Solution

137. A T.S shown conjoint, collateral, endarch and closed bundles

scattered in a ground tissue. It is

https://dl.doubtnut.com/l/_BtV5A0NeZnil
https://dl.doubtnut.com/l/_t4gIUjUPsozK
https://dl.doubtnut.com/l/_oJZ6OVpbqROo


A. dicot stem

B. monocot stem

C. dicot root

D. monocot root

Answer: b

Watch Video Solution

138. fibrovascular bundles or vascular bundles covered bt

sclerenchymatous sheath are found in

A. monocot stem

B. dicot stem and leaf

C. monocot root

D. dicot root

Answer: a

https://dl.doubtnut.com/l/_oJZ6OVpbqROo
https://dl.doubtnut.com/l/_RoUnNdbxZDGF


Watch Video Solution

139. what is true about a monocot leaf

A. reticulate venation

B. absence of bulliform cells from epidermis

C. mesophyll not differentiated into palisade and spongy tissues

D. well differentiated mesophyll

Answer: c

Watch Video Solution

140. which is not true of dicot root

A. vascular bundles 15-20

B. radial vascular bundles

C. secondary growth

https://dl.doubtnut.com/l/_RoUnNdbxZDGF
https://dl.doubtnut.com/l/_gd7acAPQYekg
https://dl.doubtnut.com/l/_JN75QbSuk8AP


D. pith little or absent

Answer: a

Watch Video Solution

141. which is not characteristic of xerophytic leaf

A. thick cuticle

B. well developed conducting tissue

C. well developed mechanical tissue

D. spongy parenchyma.

Answer: d

Watch Video Solution

142. Fascicular cambium found in dicot stem is a

https://dl.doubtnut.com/l/_JN75QbSuk8AP
https://dl.doubtnut.com/l/_XLzXmxNLGUV7
https://dl.doubtnut.com/l/_BsLoQIDlz58G


A. apical meristem

B. primary meristem

C. secondary meristem

D. intercalary meristem

Answer: b

Watch Video Solution

143. Commericial cork is obtained from

A. berberis/barberry

B. salix/willow

C. Quercus/Oak

D. betula/birch

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_BsLoQIDlz58G
https://dl.doubtnut.com/l/_Y5Xvl9Nygd6V


144. in monocots

A. leaves have reticulate venation

B. stems have annual rings

C. seeds have two storage organs

D. stems have scattered conducting strands.

Answer: d

Watch Video Solution

145. Velamen takes part in

A. respiration

B. absorption of moisture

C. transpiration

https://dl.doubtnut.com/l/_Y5Xvl9Nygd6V
https://dl.doubtnut.com/l/_J6r1iFRtGLCR
https://dl.doubtnut.com/l/_QXYKSC1jqvyl


D. protection

Answer: b

Watch Video Solution

146. Trees at sea do not have annual rings because

A. there is little climatic variations

B. they belong to monocots

C. there is enough moisture

D. soil is sandy.

Answer: a

Watch Video Solution

147. lenticles do not occur on

https://dl.doubtnut.com/l/_QXYKSC1jqvyl
https://dl.doubtnut.com/l/_DMhridWpHaZA
https://dl.doubtnut.com/l/_dpXMoP14kdWb


A. fruit

B. Root

C. stem

D. leaf

Answer: d

Watch Video Solution

148. in dicot stem, xylem is

A. polyarch

B. monoarch

C. endarch

D. exarch

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_dpXMoP14kdWb
https://dl.doubtnut.com/l/_LMoUa3IFOIPJ


149. two exarch vascular bundles occur in

A. monocot root

B. dicot root

C. monocot stem

D. dicot stem.

Answer: b

Watch Video Solution

150. Kranz anatomy occurs in

A. flower

B. root

C. leaf

https://dl.doubtnut.com/l/_LMoUa3IFOIPJ
https://dl.doubtnut.com/l/_nxHdLNleUbOW
https://dl.doubtnut.com/l/_YMgKQ6tt7pns


D. stem

Answer: c

Watch Video Solution

151. abnormal/anomalus secondary growth occurs in

A. dracaena

B. ginger

C. wheat

D. sunflower

Answer: a

Watch Video Solution

152. cork cambium is also called

https://dl.doubtnut.com/l/_YMgKQ6tt7pns
https://dl.doubtnut.com/l/_0OZ6WZco3Ih2
https://dl.doubtnut.com/l/_Wzi5utM6jmcn


A. phelloderm

B. phellem

C. periderm

D. phellogen

Answer: d

Watch Video Solution

153. Which will decay faster if exposed freely

A. sapwood

B. softwood

C. wood with lot of fibress

D. heartwood

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_Wzi5utM6jmcn
https://dl.doubtnut.com/l/_4mcIG20SA5Op


154. A narrow layer of thin-walled cells found between phloem/bark and

wood of a dicot is

A. cork cambium

B. vascular cambium

C. endodermis

D. pericycle.

Answer: b

Watch Video Solution

155. periderm is produced by

A. vascular cambium

B. fascicular cambium

C. phellogen

https://dl.doubtnut.com/l/_4mcIG20SA5Op
https://dl.doubtnut.com/l/_bYSUhyt0Aiuj
https://dl.doubtnut.com/l/_ZCSezZbwSORW


D. intrafascicular cambium

Answer: c

Watch Video Solution

156. which one is not correct about heartwood

A. it is formed of living cells

B. it contains resin, tannins and other organic contents

C. it is of dark color

D. it lies in the centre of trunk

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_ZCSezZbwSORW
https://dl.doubtnut.com/l/_yrWT9VwuhEcg


157. Lenticels and hydathodes are small pores with following common

attributes

A. allow exchange of gases

B. always remain closed

C. there is no regulation of their opeing and closing

D. they occur on the same organ of the plant.

Answer: c

Watch Video Solution

158. which part of cinchona plant, a drug is obtained

A. bark

B. pericarp

C. leaf

D. endosperm

https://dl.doubtnut.com/l/_1wc8ZlGNmKoo
https://dl.doubtnut.com/l/_74EJoDtbbAvM


Answer: a

Watch Video Solution

159. endodermis of dicot stem is also called

A. bundle sheath

B. starch sheath

C. mesophyll

D. water channel

Answer: b

Watch Video Solution

160. which one yields drug for malaria

A. penicillium

https://dl.doubtnut.com/l/_74EJoDtbbAvM
https://dl.doubtnut.com/l/_kOzTB6nPdllh
https://dl.doubtnut.com/l/_D0hYa84LcLBj


B. algae

C. barteria

D. cinchona bark

Answer: d

Watch Video Solution

161. Endodermis is a part of

A. medulla

B. stele

C. cortex

D. exodermis

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_D0hYa84LcLBj
https://dl.doubtnut.com/l/_1Ym6Zj33U2XI
https://dl.doubtnut.com/l/_4UfoirB0Ylqd


162. vessels of heart wood are blocked by

A. hydathodes

B. tyloses

C. stomata

D. latex

Answer: b

Watch Video Solution

163. annual rings are found in

A. monocot stems

B. dicot stems

C. monocot roots

D. dicot roots

https://dl.doubtnut.com/l/_4UfoirB0Ylqd
https://dl.doubtnut.com/l/_tRaKccYINI8L


Answer: b

Watch Video Solution

164. secondary xylem is

A. endarch

B. exarch

C. mesarch

D. none of the above.

Answer: d

Watch Video Solution

165. Which of the following do not have stomata

A. submerged hydrophytes

https://dl.doubtnut.com/l/_tRaKccYINI8L
https://dl.doubtnut.com/l/_2qcdMwYexVqH
https://dl.doubtnut.com/l/_C3mr1s8jiTLS


B. hygrophytes

C. mesophytes

D. xerophytes.

Answer: a

Watch Video Solution

166. phloem and cambium occur on either side of xylem. This froms a

vascular bundle called

A. collateral

B. radial

C. bicollateral

D. concentric

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_C3mr1s8jiTLS
https://dl.doubtnut.com/l/_m5CcUuUEdq5W


167. Vascular bundles in the stem of Cucurbita or Lagenaria are

A. collateral

B. bicollateral

C. radial

D. concentric

Answer: b

Watch Video Solution

168. multiple edidermis occurs in

A. cotton

B. cucurbita

C. palm

D. nerium

https://dl.doubtnut.com/l/_m5CcUuUEdq5W
https://dl.doubtnut.com/l/_2Lhw2NrKUoo5
https://dl.doubtnut.com/l/_CD62dQEAVEkQ


Answer: d

Watch Video Solution

169. if all the lenticels of stem are blocked , the first to die will be

A. leaves

B. shoot tips

C. roots

D. none of the above.

Answer: c

Watch Video Solution

170. protoxylem lacunae occur in

A. grass stem vascular bundles

https://dl.doubtnut.com/l/_CD62dQEAVEkQ
https://dl.doubtnut.com/l/_N15vMZXbdGtO
https://dl.doubtnut.com/l/_SP9IZwaW3MyB


B. caldodes

C. underground stems

D. climbers.

Answer: a

View Text Solution

171. vascular cambium from xylem on inner side and phloem on outer side

due to

A. effect of gravity

B. shearing force of wind

C. intrafascicular nature

D. differential action of hormones.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_SP9IZwaW3MyB
https://dl.doubtnut.com/l/_4nsdYeBuQmsX


172. hard woods have

A. more of parenchyma

B. vessels in abundance

C. tracheids mainly

D. non - porous nature.

Answer: b

Watch Video Solution

173. which one of the following is the most durable wood ?

A. shorea robusta

B. cedrus deodara

C. dalbergia sisso

D. tectona grandis

https://dl.doubtnut.com/l/_4nsdYeBuQmsX
https://dl.doubtnut.com/l/_rqDm9ZsOAja9
https://dl.doubtnut.com/l/_6CPRz6tTQ51v


Answer: d

Watch Video Solution

174. which one is responsible for radial conduction of water and food in

woody stems ?

A. vessels

B. vascular rays

C. endodermis

D. xylem fibres.

Answer: b

Watch Video Solution

175. bhojpatra is got from bark of

https://dl.doubtnut.com/l/_6CPRz6tTQ51v
https://dl.doubtnut.com/l/_62MM9uooiLEK
https://dl.doubtnut.com/l/_pY4oBZCfGzUT


A. dalbergia

B. cinchona

C. piper

D. betula

Answer: d

Watch Video Solution

176. undifferentiated ground tissue is present in stem of

A. sunflower

B. pisum

C. maize

D. cucurbita

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_pY4oBZCfGzUT
https://dl.doubtnut.com/l/_XxDFDIU6l061


177. secondary growth does not occur in monocots as their vascular

bundles are

A. radial

B. scattered

C. enclosed by sclerenchyma

D. closed

Answer: d

Watch Video Solution

178. funcational xylem of dicot tree is

A. sap wood

B. autumn wood

C. heart wood

https://dl.doubtnut.com/l/_XxDFDIU6l061
https://dl.doubtnut.com/l/_rxPLCadUR6Sf
https://dl.doubtnut.com/l/_Y3O41ppfisz4


D. non of the above

Answer: a

Watch Video Solution

179. vascular bundle with protoxylem towards the periphery is

A. radial

B. endarch

C. exarch

D. closed

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_Y3O41ppfisz4
https://dl.doubtnut.com/l/_pOzWcKx5UW8t


180. A meristem respondible for extra-stelar secondary growth in dicot

stem is

A. interfascicular cambium

B. phellogen

C. intrafascicular cambium

D. intercalary meristem

Answer: b

Watch Video Solution

181. secondary growth in thickness with distinct annual rings occurs in

plants growing in

A. arctic regions

B. tropical regions

C. Regions with seasonal changes

https://dl.doubtnut.com/l/_SfhRv5Mqy1Fb
https://dl.doubtnut.com/l/_b3hd3OSXMZMx


D. any region

Answer: c

Watch Video Solution

182. Tyloses thickenings are seen in

A. ray parenchyma

B. collenchyma

C. phloem cells

D. ray parenchyma and xylem cells.

Answer: d

Watch Video Solution

183. Secondary growth is absent in

https://dl.doubtnut.com/l/_b3hd3OSXMZMx
https://dl.doubtnut.com/l/_k1ovTm9cL4Oe
https://dl.doubtnut.com/l/_xjQRNzryqPvk


A. hydrophytes

B. mesophytes

C. halophytes

D. xerophytes.

Answer: a

Watch Video Solution

184. The cell wall is impermeable to water and deposition of suberin is

also found in

A. bark

B. cork

C. bast

D. xylem

Answer: b

https://dl.doubtnut.com/l/_xjQRNzryqPvk
https://dl.doubtnut.com/l/_Xz5RgW3LLP23


Watch Video Solution

185. monocot stem has

A. bicollateral closed vascular bundles

B. bicollateral open vascular bundles.

C. collateral open vascular bundles.

D. collateral closed vascular bundles.

Answer: d

Watch Video Solution

186. capparian strips contain

A. cutin

B. pectin

C. suberin

https://dl.doubtnut.com/l/_Xz5RgW3LLP23
https://dl.doubtnut.com/l/_vHiGu35Av0KK
https://dl.doubtnut.com/l/_iicF3lmo5Uwb


D. wax

Answer: c

Watch Video Solution

187. in dorsiventral leaves stomata occur

A. more on upper palisade containing suface and less on spongy

parenchyma containing lower surface

B. fewer on upper surface and more on lower surface

C. equally on both

D. none of the two surfaces.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_iicF3lmo5Uwb
https://dl.doubtnut.com/l/_ftUnnB0e5DzI


188. A monocot showing secondary growth is

A. cononut

B. sugarcane

C. maize

D. yucca

Answer: d

Watch Video Solution

189. In dicot root showing secondary growth, cork is found

A. ex ternal to primary cortex

B. inner to endodermis and outer to pericycle

C. outer to endoermis and inner to primary cortex

D. inner to endodermis and external to primary phloem

https://dl.doubtnut.com/l/_QJqtpEmVij5Y
https://dl.doubtnut.com/l/_Ws83gn4Yf4fo


Answer: b

Watch Video Solution

190. bundle sheath is absent around vascular bundles of

A. dicot stem

B. monocot stem

C. dicot leaf

D. monocot leaf

Answer: a

Watch Video Solution

191. A component of xylem is

A. sieve tube

https://dl.doubtnut.com/l/_Ws83gn4Yf4fo
https://dl.doubtnut.com/l/_rMYIFgJhPZrX
https://dl.doubtnut.com/l/_DD4PNKQa5qu0


B. medullary ray

C. Sclereids

D. Tracheid

Answer: d

Watch Video Solution

192. sencondary growth occurs in dicot stem due to

A. phloem

B. medullary ray

C. cambium

D. xylem

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_DD4PNKQa5qu0
https://dl.doubtnut.com/l/_JGzNB1IEDewl
https://dl.doubtnut.com/l/_SyAiFVyyfl2p


193. mesophyll is differentiated into palisade and spongy tissue in

A. some monocot leaves

B. all dorsiventral leaves

C. all monocot leaves

D. all isobilateral leaves.

Answer: b

Watch Video Solution

194. In free floating plant , the stomata are

A. lower surface

B. upper surface

C. both surface

D. absent

https://dl.doubtnut.com/l/_SyAiFVyyfl2p
https://dl.doubtnut.com/l/_pIK6MeFwFnI0


Answer: b

Watch Video Solution

195. casparian strip occur in

A. longitudinal and radial walls of epidermal cells

B. longitudinal wall of xylem

C. all walls of endodermis

D. radial walls of endodermis.

Answer: c

Watch Video Solution

196. A.T.S. of stem is stained frist with safranin and then fast green. What

would be the color of phloem ?

https://dl.doubtnut.com/l/_pIK6MeFwFnI0
https://dl.doubtnut.com/l/_PY1YjYmO6x6F
https://dl.doubtnut.com/l/_BeQxJQBkGEKX


A. Red

B. green

C. orange

D. purple.

Answer: b

View Text Solution

197. passage cells occur in

A. epidermis

B. cortex

C. endodermis

D. pericycle.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_BeQxJQBkGEKX
https://dl.doubtnut.com/l/_GYTfqajdHoj5


198. vascular bundles occur in a ring in

A. monocot stem

B. leaf

C. roots

D. dicot stem.

Answer: d

Watch Video Solution

199. predominant material presnet in cork cell walls is

A. lignin

B. chitin

C. suberin

https://dl.doubtnut.com/l/_GYTfqajdHoj5
https://dl.doubtnut.com/l/_cIFmkUEU6Dma
https://dl.doubtnut.com/l/_nau2g5ARzZtH


D. pectin

Answer: c

Watch Video Solution

200. vascular bundles in dicot root are

A. radial

B. concentric

C. collateral

D. bicollateral

Answer: a

Watch Video Solution

201. Determination of age by counting growth rings falls under

https://dl.doubtnut.com/l/_nau2g5ARzZtH
https://dl.doubtnut.com/l/_7uzmVasKMGgc
https://dl.doubtnut.com/l/_NGAm9Zko8oxi


A. dendrochronology

B. dendrology

C. countrochronology

D. demeology

Answer: a

Watch Video Solution

202. Waxy coating on epidermis of young stem is

A. suberin

B. periderm

C. pellem

D. cuticle

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_NGAm9Zko8oxi
https://dl.doubtnut.com/l/_hN8UOzwBVS1D


203. Porous wood contains mainly

A. fibres

B. sieve tubes

C. tracheids

D. vessels.

Answer: d

Watch Video Solution

204. duramen is

A. sapwood

B. heartwood

C. bark

https://dl.doubtnut.com/l/_hN8UOzwBVS1D
https://dl.doubtnut.com/l/_dCvLUEatN0MR
https://dl.doubtnut.com/l/_b1q26DSh8Vxm


D. periderm

Answer: b

Watch Video Solution

205. monocot root has

A. conjoint, collateral,open, polyarch vascular bundles.

B. suberised , exoddermis,casparian,casparian strip, passage

cells,cambium

C. suberised exodermis,polyarch xylem,pith

D. exoderims. Endarch, tetrarch closed vascular bundles.

Answer: c

View Text Solution

https://dl.doubtnut.com/l/_b1q26DSh8Vxm
https://dl.doubtnut.com/l/_Ly43KoesBUha


206. Which of the following have sunken stomata

A. mango

B. guava

C. hydrilla

D. nerium

Answer: d

Watch Video Solution

207. tyloses occur in

A. autumn wood

B. spring wood

C. heart wood

D. sap wood

https://dl.doubtnut.com/l/_DDpgVeTALJqI
https://dl.doubtnut.com/l/_mWNrJq66TkYe


Answer: c

Watch Video Solution

208. in cucurbits, hydoermis is formed of

A. sclerenchyma

B. collenchyma

C. parenchyma

D. aerenchyma

Answer: b

Watch Video Solution

209. in dicot root, the outermost layer of tubular living cells is

A. rhizoedermis

https://dl.doubtnut.com/l/_mWNrJq66TkYe
https://dl.doubtnut.com/l/_Bo5w5GSZpkqY
https://dl.doubtnut.com/l/_8pd0oJ0mIoI6


B. epidermis

C. hypodermis

D. exodermis

Answer: a

View Text Solution

210. in monocot stem, each vascular bundle possesses a lacuna which is

formed by disintegration of

A. protophoem

B. protoxylem

C. metaphloem

D. metaxylem

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_8pd0oJ0mIoI6
https://dl.doubtnut.com/l/_NrrmU367gAiO


211. stomata in water lily and podostenon occur respectively of

A. lower leaf surface and absent

B. upper leaf surface and absent

C. both leaf surface and upper part

D. absent in both.

Answer: b

Watch Video Solution

212. what is true

A. hygrophytes have isobilateral astomatic leaves

B. hygrophyes have hydathodes

C. most of hygrohytes have hydayhodes

D. xerophytes have more lenticels but thin cuticle.

https://dl.doubtnut.com/l/_NrrmU367gAiO
https://dl.doubtnut.com/l/_EvHOzJKJ1Whv
https://dl.doubtnut.com/l/_tE2bv9dGEpUQ


Answer: c

View Text Solution

213. secondary xylem is

A. bast

B. bark

C. cork

D. wood

Answer: d

Watch Video Solution

214. what is correct about monocot stem

https://dl.doubtnut.com/l/_tE2bv9dGEpUQ
https://dl.doubtnut.com/l/_3K4KUSOh3sXf
https://dl.doubtnut.com/l/_MmH99hgG9272


A. hypodermis is sclerenchymatous, vascular bundles are closed,

phloem parenchyma is absent

B. hypdermis is sclerenchymatous, vascular bundles are open,phloem

parenchyma is absent

C. hypdermis is collenchymatous vascular bundles are closed, phloem

parenchyma is present

D. hypodermis is sclerenchymatous, vascular bundles are closed,

pholem parenchyma is present.

Answer: a

Watch Video Solution

215. what is true of heatwood

A. it does not help in water transport

B. it is resistant to bacterial infections

https://dl.doubtnut.com/l/_MmH99hgG9272
https://dl.doubtnut.com/l/_JXEEfViQqKxn


C. it is made up of degenerated cells

D. allthe above.

Answer: d

Watch Video Solution

216. root hairs are

A. always unicellular

B. sometimes unicellular

C. sometimes multicellular

D. always multicellular.

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_JXEEfViQqKxn
https://dl.doubtnut.com/l/_VWEvCsoZqjsI


217. in a dorsiventral leaf, protoxylem and metaxlem are located

respectively

A. abaxial and adaxial sides

B. adaxial and abaxial sides

C. adaxial and adaxial sides

D. abaxial and abaxial sides.

Answer: b

Watch Video Solution

218. Vascular bundles are scattered in

A. pteridophytes

B. gymnosperms

C. monocots

D. dicots

https://dl.doubtnut.com/l/_8j33uxzcTQGq
https://dl.doubtnut.com/l/_rGvugF4Br1n6


Answer: c

Watch Video Solution

219. in dorisventral leaf, stomata

A. occur on both the layers of epidermis

B. occur on lower epidermis

C. occur in pits on the upper epidermis

D. do not occur on the epidermis.

Answer: b

Watch Video Solution

220. each annual ring or growth ring consists of two strips of

A. springwood and early wood

https://dl.doubtnut.com/l/_rGvugF4Br1n6
https://dl.doubtnut.com/l/_v0GmLixqHrgf
https://dl.doubtnut.com/l/_5ViWoNfSK06m


B. only spring wood

C. only autumn wood

D. spring wood and autumn wood.

Answer: d

Watch Video Solution

221. passage cells occur in

A. monocot root

B. dicot root

C. monocot stem

D. aerial root

Answer: a

View Text Solution

https://dl.doubtnut.com/l/_5ViWoNfSK06m
https://dl.doubtnut.com/l/_9eKPTLFnhZoI
https://dl.doubtnut.com/l/_FHp3UrWDDvnC


222. The lightest wood is

A. cereus giganteus

B. ochroma lagupus

C. hardwickia binata

D. cycas

Answer: b

Watch Video Solution

223. If four radial vascular bundles are present, then the structure will be

A. monocot root

B. dicot root

C. monocot stem

D. dicot stem.

https://dl.doubtnut.com/l/_FHp3UrWDDvnC
https://dl.doubtnut.com/l/_5p3IFmPNBRuA


Answer: b

Watch Video Solution

224. main funcation of lenticel is

A. transpiration

B. guttation

C. Bleeding

D. gasous exchange

Answer: d

Watch Video Solution

225. cambium is most active in

A. summer

https://dl.doubtnut.com/l/_5p3IFmPNBRuA
https://dl.doubtnut.com/l/_1G9XQS8HMoJE
https://dl.doubtnut.com/l/_EduiN2QyD3yu


B. winter

C. all seasons

D. snow areas.

Answer: a

Watch Video Solution

226. Diffuse porous woods are characteristic of plants growing in

A. alpine regions

B. cold winter regions

C. temperate regions

D. tropical regions.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_EduiN2QyD3yu
https://dl.doubtnut.com/l/_srmMMy3mc71y
https://dl.doubtnut.com/l/_NosREDuqSWH5


227. In a dicotyledonous stem, the sequence of tissues from the outside

to the inside is

A. phellem-pericycle-endodermis-phloem

B. phellem-phloem-endodermis-pericycle

C. phellem-endodermis- pericycle-phloem

D. pericycle-phellem-endodermis-phloem

Answer: c

Watch Video Solution

228. Velamen is tissue found in

A. epiphytes

B. xerophytes

C. heliophytes

D. sciophytes

https://dl.doubtnut.com/l/_NosREDuqSWH5
https://dl.doubtnut.com/l/_Sm0zgqYcGjyy


Answer: a

Watch Video Solution

229. what is correct sequence

A. xylem-cambium-medulla

B. cortex-endodermis-pericycle-xylem

C. cambium-xylem-cortex

D. 

Answer: b

Watch Video Solution

230. atactostele consists of vasular bundles

A. arranged in a ring

https://dl.doubtnut.com/l/_Sm0zgqYcGjyy
https://dl.doubtnut.com/l/_fd5ZEzgOX3BH
https://dl.doubtnut.com/l/_49D71CgPSUlO


B. three in number

C. scattered in ground tissue

D. broken vascular bundles.

Answer: c

Watch Video Solution

231. piliferous layer of root is actually

A. pericycle

B. endodermis

C. conjuncative parenchyma

D. epidermis

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_49D71CgPSUlO
https://dl.doubtnut.com/l/_SZ8zlPlSOudh
https://dl.doubtnut.com/l/_utSBJlvHt3pI


232. ltsigenous cavity occurs in

A. stem of helianthus

B. root of Helianthus

C. root of zea mays

D. stem of zea mays

Answer: d

Watch Video Solution

233. cambium products

A. secodary permanent tissue

B. secondary meristematic tissue

C. secondary apical meristem

D. all the above.

https://dl.doubtnut.com/l/_utSBJlvHt3pI
https://dl.doubtnut.com/l/_5Z7NPaJWuTEz


Answer: a

Watch Video Solution

234. motor cells take part in

A. guttation

B. transpiration

C. inrolling

D. all the above.

Answer: c

Watch Video Solution

235. vascular bundles occur in a leaf

A. entire lamina

https://dl.doubtnut.com/l/_5Z7NPaJWuTEz
https://dl.doubtnut.com/l/_xVdXlBwdJhvg
https://dl.doubtnut.com/l/_0CavYqV89x12


B. palisade parenchyma

C. spongy parenchyma

D. veins and veinlets.

Answer: d

Watch Video Solution

236. Gymnosperm are soft wooded as they lack

A. lacks cambium

B. lacks vessels

C. does not yield timber

D. none of the above.

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_0CavYqV89x12
https://dl.doubtnut.com/l/_NAHHQEOIikuc
https://dl.doubtnut.com/l/_74D8uGThoe7S


237. match the species with type of wood 

(a) tectona grandis € softwood 

(b) cedrus deodara (f) hardwood ltbgt shorea robusta 

(d) Dallbergia sisso

A. a-e,b-f,c-f,d-e

B. a-e,b-e,c-f,d-f

C. a-f,b-e,c-f,d-f

D. a-f,b-e,c-e,d-f

Answer: c

View Text Solution

238. vascular bundles of monocot stem are

A. conjoint, collateral and open

B. conjoint, collateral and closed

https://dl.doubtnut.com/l/_74D8uGThoe7S
https://dl.doubtnut.com/l/_d2t5lKefH5FD


C. conjoint,bicollateral and open

D. conjoint ,cocentric and closed.

Answer: b

Watch Video Solution

239. Vascular bundles are scattered in

A. monocot stem

B. monocot root

C. dicot stem

D. dicot root

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_d2t5lKefH5FD
https://dl.doubtnut.com/l/_ozrobVYFZ74P


240. vascular bundles are closed when they

A. have combium

B. lack cambium

C. lack pericycle

D. lack endodermis

Answer: b

Watch Video Solution

241. The sugarcane plant has

A. reticulate venation

B. capsular friuts

C. pentamerous flowers

D. dumb -bell-shaped guard cells.

https://dl.doubtnut.com/l/_CKDzSqxbmXzc
https://dl.doubtnut.com/l/_NRj4xbNgGcU6


Answer: d

Watch Video Solution

242. in a plant organ covered by periderm , the stomata are absent.

Gaseous exchange occurs thorugh

A. aerenchyma

B. lenticels

C. trichomes

D. pneumatophores.

Answer: b

Watch Video Solution

243. A bicollateral vascular bundle has the following arrangement of

tissues

https://dl.doubtnut.com/l/_NRj4xbNgGcU6
https://dl.doubtnut.com/l/_kM4EnLm0acMa
https://dl.doubtnut.com/l/_9JH8fiuJGI1V


A. outer phloem-outer cambium-middle xylem-inner cambium-inner

phloem

B. outer xylem-outer cambium-middle phloem-inner cambium-inner

xylem

C. outer phloem-outer xylem - middle cambium

D. outer cambium-outer phloem-middle xylem-inner phloem-inner

cambium

Answer: a

Watch Video Solution

244. in the diagram of T.S stele of dicot root, the different parts have

been indicated by alphabets.choose the correct combination. 

https://dl.doubtnut.com/l/_9JH8fiuJGI1V
https://dl.doubtnut.com/l/_o88sVGh6MTKz


A. a-pericycle,b-conjuntive tissue, c-metaxylem, d-protoxylem, e-

phloem,f-pith

B. a-endodermis,b-conjunctive tissue, c-protoxylem, d- metaxylem, e-

phloem, f-pith

C. a-endodermis, b-conjuncitve tissue, c- metaxylem , d-protoxylem, e-

phloem , f-pith

D. a-endodermis,b-pith,c-protoxylem,d-metaxylem , e-phloem, f-

conjunctive tissue.

https://dl.doubtnut.com/l/_o88sVGh6MTKz


Answer: b

Watch Video Solution

245. A tree grows at a rate of 0-5 m/yr . What will be the height of a board

fixed at 1-5 m above the base, five years ago

A. 4 m

B. 3-5 m

C. 1-5 m

D. 4-5 m

Answer: c

View Text Solution

246. vascular cambium of stem is

https://dl.doubtnut.com/l/_o88sVGh6MTKz
https://dl.doubtnut.com/l/_wl14BNjsMBD1
https://dl.doubtnut.com/l/_XHHQeeWbNKgV


A. primary meristem

B. partly primary and partly secondary

C. secondary meristem

D. intercalary meristem

Answer: b

Watch Video Solution

247. Annual growth rings are formed due to activity

A. extrastelar cambium

B. intrastelar cambium

C. interstelar cambium

D. both B and C

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_XHHQeeWbNKgV
https://dl.doubtnut.com/l/_KngSB37d7ND7


248. branch of botany dealing with internal organisation of plants is

A. physiology

B. anatomy

C. ecology

D. cytology

Answer: d

Watch Video Solution

249. laticiferous glands occur in plants part

A. cortex

B. vascular bundle

C. epidermis

https://dl.doubtnut.com/l/_KngSB37d7ND7
https://dl.doubtnut.com/l/_hLOh35nvpXd0
https://dl.doubtnut.com/l/_aOkJbNV3q8us


D. endodermis

Answer: a

View Text Solution

250. inner darker, harden portion of secondary xylem that cannot connot

conduct water in older dicot stem is called

A. alburnum

B. bast

C. duramen

D. wood

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_aOkJbNV3q8us
https://dl.doubtnut.com/l/_Kj13uRTBAlJr


251. Epiblema of roots is equivalent to

A. epidermis of leaf

B. epidermis of stem

C. epidermis of dicot root

D. epidermis of both dicot and monocot roots.

Answer: d

Watch Video Solution

252. fascicular , interfascicular and extra-fascicular cambium together

constitute

A. ground meristem

B. lateral meristem

C. intercalary meristem

D. primary meristem

https://dl.doubtnut.com/l/_LioUodAeZEpw
https://dl.doubtnut.com/l/_v7zchsHm0oiK


Answer: b

Watch Video Solution

253. Identify the correct combination of labelling a lenticel 

A. a-pore,b-complementary cells, c-cork, d-cork camplementary cells.

B. a-pora,b-secondary cortex, c-cork, d-cork cambium, e-complementary

https://dl.doubtnut.com/l/_v7zchsHm0oiK
https://dl.doubtnut.com/l/_LpmGNbLEJjbA


C. a-pore,b-cork ,c-comlementary cells, d-cork cambium , e- secondary

cortex

D. a- pore , b- cork, c-cork cambium, d-secondary cortex, e-complem

entary cells.

Answer: a

Watch Video Solution

254. Which of the following is correct sequence of layers in typical

monocot root (from outer surface to inside)

A. ebiblema, endodermis, cortex, pericycle

B. pericycle, cortex, endodermis , epiblema

C. epiblema, cortex, endodermis , pericycle

D. epiblema , pericycle , cortex, endodermis

Answer: c

https://dl.doubtnut.com/l/_LpmGNbLEJjbA
https://dl.doubtnut.com/l/_jxmCxhaYU1BV


Watch Video Solution

255. assertion (A). All the endodermal cells of the root do not contain

casparian thickenings on their radial walls and transverse walls. 

Reason ®.passage cells are found in endodermis.

A. both A and R are true. R os correct explanation of A

B. both A and R are ture. R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true.

Answer: a

Watch Video Solution

256. Read the different components from (A) to (D) in the list given below

and tell he correct order of the components with reference to their

arrangement from outer side to inner side in a woody dicot stem 

https://dl.doubtnut.com/l/_jxmCxhaYU1BV
https://dl.doubtnut.com/l/_0K8Hi5Ksk9sx
https://dl.doubtnut.com/l/_DefXOa5ExRkc


(A) Secondary cortex , (B) Wood 

(C)Secondary phloem , (D) Phellem

A. 2,3,1,4

B. 4,1,3,2

C. 1,2,4,3

D. 3,4,2,1

Answer: b

Watch Video Solution

257. palisade parechyma is present on both sides in

A. nerium

B. eucalyptus

C. wheat

D. both A and B

https://dl.doubtnut.com/l/_DefXOa5ExRkc
https://dl.doubtnut.com/l/_uIYq3auYLAvD


Answer: d

Watch Video Solution

258. Tyloses are ballon-like ingrowth in vessels developing from adjoining

A. parenchyma through pits in vessel wall

B. endodermis of stem

C. pericycle of root.

D. endodermis of root.

Answer: a

Watch Video Solution

259. Casparian thickenings are found in the cells of 

Or 

In dicot roots, cells of which region show casparian strips

https://dl.doubtnut.com/l/_uIYq3auYLAvD
https://dl.doubtnut.com/l/_AL1YiNF0nCrq
https://dl.doubtnut.com/l/_EBxzhYOxJHd1


A. pericycle of stem

B. endodermis of stem

C. pericycle of root.

D. endodermis of root.

Answer: d

Watch Video Solution

260. The large , empty and colourless cells present at intervals on the

upper surface of grass leaf are called

A. accessory cells

B. bulliform cells

C. palisade parenchyma

D. spongy parenchyma.

Answer: b

https://dl.doubtnut.com/l/_EBxzhYOxJHd1
https://dl.doubtnut.com/l/_OLT7WuL1YlZv


Watch Video Solution

261. Which of the following statement is / are not true 

A. Cork cambium is otherwise called phellogen 

B. Cork is otherwises called phellem 

C. Secondary cortex is otherwise called peirderm 

D. Cork cambium, cork and secondary cortex are collectively called

phelloderm

A. b and d only

B. b and c only

C. c and d only

D. a and d only

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_OLT7WuL1YlZv
https://dl.doubtnut.com/l/_tM405AP8yv46


262. collateral open vascular bundles and eustele are found in

A. dicot root

B. dicot stem

C. monocot stem

D. monocot root.

Answer: b

Watch Video Solution

263. radial vascular bundles occur in

A. dicot root

B. monocot root

C. all root

D. dicot stem.

https://dl.doubtnut.com/l/_1AWxjmZJ4rgp
https://dl.doubtnut.com/l/_AmVFrZ3WHUAf


Answer: c

Watch Video Solution

264. vascular cambium produces

A. secondary xylem and sencondary phloem

B. secondary xylem only

C. secondary phloem only

D. primary xylem and primary phloem

Answer: a

Watch Video Solution

265. phellogen is also known as

A. vascular cambium

https://dl.doubtnut.com/l/_AmVFrZ3WHUAf
https://dl.doubtnut.com/l/_tcJAI9C1akWA
https://dl.doubtnut.com/l/_xDqPApeNnV3s


B. periderm

C. cork cambium

D. apical meristem

Answer: c

Watch Video Solution

266. given below are assertion and reson. Point out if 

Assertion . In woody stems, the amount of heartwood continues year

after year. 

Reason. the cambial activity continues uninterrupted.

A. both are true with reason being correct explanation

B. both true but reason is not correct explanation.

C. assertion true but reason is wrong

D. both are wrong

https://dl.doubtnut.com/l/_xDqPApeNnV3s
https://dl.doubtnut.com/l/_jLvOxT56GZob


Answer: a

Watch Video Solution

267. in the diagram of lentical , identify the parts a , b,c,d ltbr

A. a - complementary cells, b-phellogen, c- phelloderm , d-periderm

B. a- complementary cells , b- phellem, c-periderm , d- phelloderm

C. a-phellem , b-periderm, c-phellogen, d-phelloderm

D. a-phellem, b-complementary cells, c-phellogen , d-phelloderm

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_jLvOxT56GZob
https://dl.doubtnut.com/l/_WUl8ndwsz4iK
https://dl.doubtnut.com/l/_8GbtvFCsYRBc


268. cambium ring consists of

A. interfascicular cambium

B. intrafascicular cambium

C. both A and B

D. phelloderm

Answer: c

Watch Video Solution

269. endodermis takes part in

A. providing protection

B. preventing water loss from stele

C. maintaining rigidity

D. all the above.

https://dl.doubtnut.com/l/_8GbtvFCsYRBc
https://dl.doubtnut.com/l/_OgwH8tn01FLt


Answer: b

Watch Video Solution

270. in autumn and winter, cambium produces

A. sap wood

B. heart wood

C. Early wood

D. late wood.

Answer: d

Watch Video Solution

271. cells of Grass leaves which help in minimising cuticular transpiration

are

https://dl.doubtnut.com/l/_OgwH8tn01FLt
https://dl.doubtnut.com/l/_ugGYo2So2tKW
https://dl.doubtnut.com/l/_EWuyWwZqqOk6


A. bullifrom cells

B. guard cells

C. subsidiary cells

D. endodermal cells.

Answer: a

Watch Video Solution

272. Cork cambium is a

A. primary meristem

B. apical meristem

C. secondary meristem

D. intercalary meristem

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_EWuyWwZqqOk6
https://dl.doubtnut.com/l/_8fbjxeoEcfCX


273. secondary growth is best observed in

A. teak and pine

B. deodar and fern

C. wheat and maiden hair fern

D. sugarcane and sunflower.

Answer: a

Watch Video Solution

274. passage cells are thin- walled cells found in

A. phloem elements to serve as entry points.

B. testa of seeds for emergence of embryonal axis.

C. central area of style for passage of pollen tube

https://dl.doubtnut.com/l/_8fbjxeoEcfCX
https://dl.doubtnut.com/l/_skRxRJN03iU1
https://dl.doubtnut.com/l/_EmkJIozj7ezM


D. endodermis of roots to facilitate rapid transport of water from

cortex to pericycle.

Answer: d

Watch Video Solution

275. Consider the following statement 

(A) In a dicot root, the vascular bundles are collateral and endarch 

(B) The inner most layer of cortex in a dicot root is endodermis 

(C) In a dicot root, the phloem masses are separated from the xylem by

parenchymatous cells that are known as the conjunctive tissue 

Of these statement given above

A. a true,b,c fasle

B. b true,a ,c false

C. a false, b and c true

D. b false , a,c true

https://dl.doubtnut.com/l/_EmkJIozj7ezM
https://dl.doubtnut.com/l/_6gGYMQCg2jaJ


Answer: c

Watch Video Solution

276. closing layer of lenticels show deposition of

A. cuticle

B. lignin

C. pectin

D. suberin

Answer: d

Watch Video Solution

277. what differentiates a dicot leaf from monocot leaf

A. stomata only on upper side

https://dl.doubtnut.com/l/_6gGYMQCg2jaJ
https://dl.doubtnut.com/l/_QNDritvuseBk
https://dl.doubtnut.com/l/_8dcwAlvor9h0


B. differentiation of palisade and spongy parenchyma

C. parallel venation

D. stomata on upper and lower sides.

Answer: b

Watch Video Solution

278. cellular layers form outside to inside in old dicot stem are

A. epidermis, phellem,phellogem,phelloderm

B. epidermis , hypodermis, cortex, endodermis

C. epiermis, phellogen,phellem, endodermis

D. epidermis, hypodermis, phellogen, phelloderm,phellem

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_8dcwAlvor9h0
https://dl.doubtnut.com/l/_lnxVtRgknVyR
https://dl.doubtnut.com/l/_joYC1ZB81aMA


279. older resin-clogged central seconedary xylem and younger outer

secondary xylem are respectively known as

A. alburnum and duramen

B. duramen and alburumn

C. autumn wood and springwood

D. springwood and autumn wood.

Answer: b

Watch Video Solution

280. which character is not associated with plant where shull studied

inbreeding depression while miller and lethan extracted a hormone from

its seeds

A. atactostele in stem

B. bundle sheath in leaf

https://dl.doubtnut.com/l/_joYC1ZB81aMA
https://dl.doubtnut.com/l/_wBbieuWOb1vj


C. chromosome number 30 in endosperm

D. medulla absent in root.

Answer: d

View Text Solution

281. condition found in roots of a plant having assimilatory submerged

roots and spongy petioles

A. tetrarch

B. triarch

C. monarch

D. diarch

Answer: c

View Text Solution

https://dl.doubtnut.com/l/_wBbieuWOb1vj
https://dl.doubtnut.com/l/_OhlMiKB1Ogbq
https://dl.doubtnut.com/l/_2zFqMY1bXiPa


282. Cuticle is absent in

A. mesophytes

B. young roots

C. monarch

D. diarch

Answer: d

Watch Video Solution

283. in an annual ring , the light coloured part is

A. heart wood

B. sapwood

C. Early wood

D. late wood.

https://dl.doubtnut.com/l/_2zFqMY1bXiPa
https://dl.doubtnut.com/l/_MTyFWJ5AmWhn


Answer: c

Watch Video Solution

284. Which of the following statements are correct about heartwood? 

(i). It does not help in water conduction 

(ii). It is also called alburnum 

(iii). It is light in colour and is very soft 

(iv). It has tracheray elements which are filled with tannins, resins etc.

A. b,c,d

B. a,b,c

C. b,d

D. a,d

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_MTyFWJ5AmWhn
https://dl.doubtnut.com/l/_YxPXw6qfWwSZ
https://dl.doubtnut.com/l/_toRg2in894SL


285. pith parenchyma generally lacks

A. vacuole

B. chloroplasts

C. mitochondria

D. nucleus.

Answer: b

Watch Video Solution

286. Tetrarch bundles occcur in

A. laef of cicer arietinum

B. leaf of pisum sativum

C. root of cicer arietinum

D. root of zea mays.

https://dl.doubtnut.com/l/_toRg2in894SL
https://dl.doubtnut.com/l/_rhS3yPIMcf7i


Answer: c

Watch Video Solution

287. which is not part of periderm

A. phellogen

B. cork

C. secondary cortex

D. wood

Answer: d

Watch Video Solution

288. lenticles are patches of

A. loose cells in leaves

https://dl.doubtnut.com/l/_rhS3yPIMcf7i
https://dl.doubtnut.com/l/_cgVrVspuEc0q
https://dl.doubtnut.com/l/_NIrf9gmAvGIU


B. loose cellls on bark for aeration

C. subsidiary cells of stomata

D. cells for respiration of epiphytes.

Answer: b

Watch Video Solution

289. conjoint and closed vascular bundles with no phloem parenchyma

are observed in

A. monocot stem

B. dicot stem

C. monocot root

D. dicot root

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_NIrf9gmAvGIU
https://dl.doubtnut.com/l/_Pdw4QRHeaCg6


290. Match the following and choose the correct combination 

A. a-4,b-5,c-2,d-1,e-3

B. a-5,b-3,c-1,d-2,e-4

C. a-4,b-5,c-1,d-2,e-3

D. a-4,b-2,c-5,d-3,e-1

Answer: d

Watch Video Solution

A. Endodermis (1) Companion cells

B. Stomata (2) Lenticels

C. Sieve tube (3) Palisade cells

D. Periderm (4) Passage cells

E Mesophyll (5) Accessory cells

291. In barley stem vascular bundles are

A. open and scattered

https://dl.doubtnut.com/l/_Pdw4QRHeaCg6
https://dl.doubtnut.com/l/_Oy7dIsFKz39t
https://dl.doubtnut.com/l/_i3nuNmYAwGL3


B. closed and scattered

C. closed and radial

D. open and in a ring.

Answer: b

Watch Video Solution

292. Palisade parenchyma is absent in leaves of

A. gram

B. soyabean

C. sorghum

D. mustard

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_i3nuNmYAwGL3
https://dl.doubtnut.com/l/_rNxD6a7Tb69J
https://dl.doubtnut.com/l/_DbhYqgkJgsm8


293. anotmically fairly old dicotyledonous root is distinguished from

dicotyledonous stem by

A. position of protoxylem

B. absence of secondary xylem

C. absence of secondary phloem

D. presence of cortex

Answer: a

Watch Video Solution

294. Arrange the following in the order of their location from periphery

to centre in the entire dicotyledonous plant body 

(i) Fusiform cells 

(ii) Trichoblasts 

(iii) colloytes tyloses 

(iii) collocytes 

https://dl.doubtnut.com/l/_DbhYqgkJgsm8
https://dl.doubtnut.com/l/_tRfv54nlWCGX


(iv) Tyloses 

The correct sequence is

A. b,c,a,d

B. a,d,c,d

C. d,a,b,c

D. c,b ,a,d

Answer: a

Watch Video Solution

295. vascular bundle of monocot is

A. scattered

B. closed

C. conjoint

D. All of the above

https://dl.doubtnut.com/l/_tRfv54nlWCGX
https://dl.doubtnut.com/l/_5Y4KwVY3gimd


Answer: d

Watch Video Solution

296. A structure absent in monocots is

A. sieve tube

B. closed

C. endarch

D. all the above.

Answer: c

Watch Video Solution

297. which of the following is not correct

A. early wood is characterised by a large number of xylary elements

https://dl.doubtnut.com/l/_5Y4KwVY3gimd
https://dl.doubtnut.com/l/_7RKPOGyvvHOj
https://dl.doubtnut.com/l/_xPq8hoOCE0kJ


B. late wood is characterised by a large number of xylary elements

C. early wood is characterised by vessels with broader cavities

D. late wood is characterised by vessels with narrower cavities.

Answer: b

Watch Video Solution

298. Medullary rays are made up of

A. fibres

B. tracheids

C. sclerenchyma cells

D. parenchymatous cells.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_xPq8hoOCE0kJ
https://dl.doubtnut.com/l/_XkbTP78xfcJg
https://dl.doubtnut.com/l/_kOLPkkKgKYZ5


299. heart wood differs from sapwood in

A. absence of vessels and parenchyma

B. heaving dead and non-conducting elements

C. being susceptible to pests and pathogens

D. presence of rays and fibres.

Answer: b

Watch Video Solution

300. the term " bark " means

A. phellem,phelloderm and vascular cambium

B. phellem, phellogen,phelloderm primary and secondary phloem

C. phellem,phellogen, phelloderm primary and secondary xylem

D. cork cambium and cork.

https://dl.doubtnut.com/l/_kOLPkkKgKYZ5
https://dl.doubtnut.com/l/_iY6XmWeKmVqP


Answer: b

Watch Video Solution

301. vasclar bundels are arranged in a ring in the stem of

A. wheat

B. mazie

C. rice

D. gram

Answer: d

Watch Video Solution

302. an old trunk of shisham ( Dalbergia sisso) tree would have the

maximum amount of

https://dl.doubtnut.com/l/_iY6XmWeKmVqP
https://dl.doubtnut.com/l/_EqfciGIScgW4
https://dl.doubtnut.com/l/_MAT9QXYipQzw


A. primary phloem

B. primary xylem

C. secondary xylem

D. secodary cortex.

Answer: c

Watch Video Solution

303. the given figure shown. ltbr

https://dl.doubtnut.com/l/_MAT9QXYipQzw
https://dl.doubtnut.com/l/_TaIlPefdiYNR


A. structure of lenticel

B. hydathode showing gaseous exchange

C. an alga forming spores

D. A fungus producing spores.

Answer: a

Watch Video Solution

304. Water containing cavities in vascular bundles are found in

A. sunflower

B. mazie

C. cycos

D. pinus.

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_TaIlPefdiYNR
https://dl.doubtnut.com/l/_4BTTUpeMB5Cy


305. gymnosperms are soft-wooded as they lack

A. cambium

B. phloem fibres

C. thick - walled tracheids.

D. xylem fibres.

Answer: d

Watch Video Solution

306. complementry cells occur in

A. pericycle

B. pith

C. lenticels

https://dl.doubtnut.com/l/_4BTTUpeMB5Cy
https://dl.doubtnut.com/l/_FCLWMmyVYIlW
https://dl.doubtnut.com/l/_psNWr8t2wJup


D. endodermis

Answer: c

Watch Video Solution

307. collateral open vascular bundles and eustele are found in

A. monocot stem

B. dicot stem

C. monocot root

D. dicot root

Answer: b

Watch Video Solution

308. as compared to a dicot root, a monocot root has

https://dl.doubtnut.com/l/_psNWr8t2wJup
https://dl.doubtnut.com/l/_xAZOTb7NYWzq
https://dl.doubtnut.com/l/_YwAN8wv7XoEB


A. more abundant secondary xylem

B. many xylem bunles

C. Inconspicuous annual rings

D. Relatively thicker periderm

Answer: b

Watch Video Solution

309. Radial conduction of water takes place by

A. Pholem

B. Vessels and tracheids

C. Vessels

D. Ray paraenchyma cells.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_YwAN8wv7XoEB
https://dl.doubtnut.com/l/_2jS7FlIT2T4u


310. The elements of xylen tissue that store tannins are

A. tracheids

B. vessels

C. xylem parenchyma

D. xylem fibres.

Answer: c

Watch Video Solution

311. jute fibres are

A. sieve fibres

B. xylem fibres

C. pholem fibres

https://dl.doubtnut.com/l/_2jS7FlIT2T4u
https://dl.doubtnut.com/l/_ZyqXrWhJBUDh
https://dl.doubtnut.com/l/_jFyakX0PqOuK


D. mesocarp fibres of coconut.

Answer: c

Watch Video Solution

312. A common character of monocot and dicot roots is

A. Exarch protoxylem

B. Endarch xylem

C. number of xylem strands

D. occrrence of secondary growth.

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_jFyakX0PqOuK
https://dl.doubtnut.com/l/_8zns1AL1mw8t


313. A cut trunk shows 26 concentric rings of spring wood and autum

wood in alternate rows. The age of trunk would be

A. 13 years

B. 26 years

C. 52 years

D. 104 years

Answer: a

Watch Video Solution

314. Find out the wrong statement about angiosperm roots

A. apex is protected by root cap

B. vascular bundles are collateral

C. xylem is centripetal in young state

D. cuticle is absent in young state.

https://dl.doubtnut.com/l/_dEyqX26Ro5aF
https://dl.doubtnut.com/l/_hPBRNIEEbFro


Answer: b

Watch Video Solution

315. Secondary cortex is also known as

A. phellogen

B. phellem

C. phelloderm

D. bark.

Answer: c

Watch Video Solution

316. A dicot plant in which scattered vascular bundles are present in stem

is

https://dl.doubtnut.com/l/_hPBRNIEEbFro
https://dl.doubtnut.com/l/_vcXFbfGrL3VA
https://dl.doubtnut.com/l/_2nXhr7lLOkKo


A. Helianthus

B. Peperomia

C. Yucca

D. Dolichos.

Answer: b

Watch Video Solution

317. Identify the correct pair of statement 

(i) pericyle parenchymatous in dicot root but sclerenchymatous in mature

monocot root 

(ii) pericycle of both dicot and monocot root produces lateral roots

during secondary growth 

(iii) All cells of dicot root endodermis are passage cells 

(iv) Xylem is produced in centripetal manner in roots of fruit bearing

plants

A. ii and iii

https://dl.doubtnut.com/l/_2nXhr7lLOkKo
https://dl.doubtnut.com/l/_fVKd6JdhVH54


B. iii and iv

C. I and ii

D. I and iv

Answer: d

Watch Video Solution

318. match the lists 

A. 

B. 

C. 

D. 

I II

(a) Tyloses (i) Conenocytic

(b) periderm (ii) Adaxial epidermis

(c) motor cells (iii) Complementary cells

(d) Laticifers (iv) Heartwood

(v) conjunctive tissue

a b c d

(A) (iii) (ii) (i) (v)

a b c d

(B) (ii) (v) (i) (iii)

a b c d

(C) (iv) (iii) (ii) (i)

a b c d

(D) (iv) (i) (iii) (v)

https://dl.doubtnut.com/l/_fVKd6JdhVH54
https://dl.doubtnut.com/l/_88aVKejLlpvd


Answer: c

Watch Video Solution

319. select the correct pair

A. spring wood - light colour, high density

B. Spring wood - dark colour, low density

C. autumn wood -light colour, high density

D. autumn wood - dark light colour, high density.

Answer: d

Watch Video Solution

320. companion cells are absent in the phloem of

A. dicots

https://dl.doubtnut.com/l/_88aVKejLlpvd
https://dl.doubtnut.com/l/_JPEsivRmPxDj
https://dl.doubtnut.com/l/_q2UByznZAKgx


B. gymnosperms

C. monocots

D. all the above.

Answer: b

Watch Video Solution

321. the diagram is anatomy of ltbr

A. T.S leaf of CAM plant

B. T.S. dicot leaf

https://dl.doubtnut.com/l/_q2UByznZAKgx
https://dl.doubtnut.com/l/_Z499wqFCvVys


C. T.S. maize leaf

D. none of the above.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_Z499wqFCvVys


322. the given diagram is anatomy of ltbr

A. dicot root

B. dicot stem

C. monocot stem

https://dl.doubtnut.com/l/_EdL5Z1DRPVMQ


D. monocot root.

Answer: c

Watch Video Solution

323. Interfascicular cambium develops from the cells of

A. pericycle

B. medullary ray

C. xylem parenchyma

D. endodermis

Answer: b

Watch Video Solution

324. Lenticels are involved in

https://dl.doubtnut.com/l/_EdL5Z1DRPVMQ
https://dl.doubtnut.com/l/_0I1AxkWlg97h
https://dl.doubtnut.com/l/_Nd6ugeKonblr


A. photosynthesis

B. transpiration

C. gaseous exchange

D. food transport.

Answer: c

Watch Video Solution

325. amont of secondart xylem on the outer secondary phloem beacous

A. cambium is more acitve on the outer side

B. cambium is more active on inner side

C. cambium has no role

D. cambium is active equally on both sides but xylem is required

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_Nd6ugeKonblr
https://dl.doubtnut.com/l/_5td8gPHVmdhX


326. cork cambium of dicot stem originates from

A. dedifferentiated parenchyma cells of cortex

B. dediffernetiated collenchyma cells of cortex

C. parenchyma cells of medullary rays

D. paraenchyma cells of pericycle.

Answer: b

Watch Video Solution

327. In the diagream of T.S monocot leaf, identify labellings a,b,c,d with

their funcation 

https://dl.doubtnut.com/l/_5td8gPHVmdhX
https://dl.doubtnut.com/l/_o21Tg62MzCuz
https://dl.doubtnut.com/l/_R2auZJsYYzRl


A. a-motor action, b-photosynthesis, c-conduction , d- transpiration.

B. a-motor action,b-conduction,c-photosynthesis, d- transpiration

C. a- transpiration,b-photosynthesis, c - conduction, d-transpiration

D. a-transpiration,b-conduction, c-photosynthesis, d- motor aciton.

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_R2auZJsYYzRl


328. match the columns and choose the correct option 

A. a-3,b-5,c-4,d-1,c-2

B. a-2,b-5,c-1,d-3,e-4

C. a-3,b-1,c-5,d-2,e-4

D. a-5,b-4,c-2, d-1, c-3

Answer: d

Watch Video Solution

I II

(a) Bulliform cells (1) intitaion

(b) peicycle (2) Root

(c) Endarch xylem (3) Grasses

(d) Exarch Xylem (4) Dicot leaf

(e)Bundle sheath cells (5) stem 

329. the term brak refers to

A. primary and secondary phloem only

https://dl.doubtnut.com/l/_eNavT5GN1yqC
https://dl.doubtnut.com/l/_xQ6UPgpHqDwC


B. periderm , secondary phloem and vascular cambium only

C. secondary xylem and cambium only

D. periderm only.

Answer: d

Watch Video Solution

330. which of the following ch aracters is not found in the transverse

section of monocot stem

A. sclerenchyma bundle sheath

B. lysigenous cavity

C. sclerenchymatous hypodermis

D. starch sheath.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_xQ6UPgpHqDwC
https://dl.doubtnut.com/l/_87Okn1BgH5sf


331. identify the correct pair of statement 

I.funcations of sieve tubes is controlled by nucles of companion cells. 

II. Albuminous cells are present in angiosperms 

III. In dicot root, the vascular cambium is competely of perimary plant

body.

A. I and III

B. II and IV

C. I and II

D. II and III

Answer: a

Watch Video Solution

332. Identify the tissue not formed during secondary growth in plants.

https://dl.doubtnut.com/l/_87Okn1BgH5sf
https://dl.doubtnut.com/l/_mTsIQO1xmFNp
https://dl.doubtnut.com/l/_3LzSfuYtIWqo


A. phellogen

B. wood

C. phellem

D. pericycle.

Answer: d

Watch Video Solution

333. which of the following characters are not appplicable to the

anantomy of dicot stem. 

(a) colenchymatous htpodermis 

(b) polyarch xylem ltcgt presence of casparian strips on endodermis ltdgt

poen vascular bundle 

€ presence of medullary rays

A. a d and e only

B. b and c only

https://dl.doubtnut.com/l/_3LzSfuYtIWqo
https://dl.doubtnut.com/l/_zOc7E3HMCvhw


C. b and e only

D. a, b and c only

Answer: b

View Text Solution

334. which of these characters does/do not apply to vascular bundle of

moncot stem.

I. conjoint II. Endarch protoxylem III. Open IV. Phloem parenchyma is

absent.

A. I and II only

B. II and III

C. I and IV only

D. III

Answer: d

https://dl.doubtnut.com/l/_zOc7E3HMCvhw
https://dl.doubtnut.com/l/_Pm69E35a075b


Watch Video Solution

335. when one wood is lighter in colour with lower density, the other

wood is darker with higher density. They are

A. springwood and autumn- wood

B. heartwood and late wood

C. springwood and early wood

D. autumn wood and springwood.

Answer: a

Watch Video Solution

336. which of the following part of dicot root is made up of cells with

suberin depostion in tangential as well as radial walls.

A. epidermis

https://dl.doubtnut.com/l/_Pm69E35a075b
https://dl.doubtnut.com/l/_Kz0E4eyFmDEC
https://dl.doubtnut.com/l/_jnIHWBVEpkH0


B. endodermis

C. cortex

D. pericycle.

Answer: b

Watch Video Solution

337. you are given a fairly old piece of dicot stem and a dicot root. Which

of the following anatomical structures will you use to distinguish

between the two.

A. secondary phloem

B. protoxylem

C. cortical cells

D. sencodary xylem

Answer: b

https://dl.doubtnut.com/l/_jnIHWBVEpkH0
https://dl.doubtnut.com/l/_0wM2WHmUUkwC


Watch Video Solution

338. select the characters which are not applicable to the anatomy of

dicot roots. (a) conjunctive tissue present (b) presnce of protein

compounds in casparian strips © polyarch xylem bundles (d) presence of

pericycle.

A. a and b

B. b and d

C. c and d

D. b and c

Answer: e

View Text Solution

339. No vessels are found in the wood of

https://dl.doubtnut.com/l/_0wM2WHmUUkwC
https://dl.doubtnut.com/l/_GyLDXaU77zLl
https://dl.doubtnut.com/l/_jK5M4MfcofTd


A. pine

B. eucalyptus

C. teak

D. sheesham

Answer: a

Watch Video Solution

340. medullary rays are tissues made up of

A. phloem parenchyma

B. xylem paraenchyma

C. sieve tubes

D. sclerenchyma

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_jK5M4MfcofTd
https://dl.doubtnut.com/l/_BypnHHRetg3U


341. Read the different components from (A) to (D) in the list given below

and tell he correct order of the components with reference to their

arrangement from outer side to inner side in a woody dicot stem 

(A) Secondary cortex , (B) Wood 

(C)Secondary phloem , (D) Phellem

A. c,d,b,a

B. a,b,d,c

C. d,a,c,b,

D. d,c,a,b

Answer: c

Watch Video Solution

342. In dicot stem secondary growth is due to the activity of

https://dl.doubtnut.com/l/_BypnHHRetg3U
https://dl.doubtnut.com/l/_s08fNA2NHiYq
https://dl.doubtnut.com/l/_bLkyek8CrmDv


A. apical meristems

B. intercalary meristems

C. lateral meristems

D. parenchyma cells.

Answer: c

Watch Video Solution

343. transport proteins of endodermal cells are control point where a

plant adjusts the quantity and types of solutes that reach the xylem. Root

endodermis is able to actively transport ions in one direaction only

becaouse of the layer of .

A. actin

B. lignin

C. suberin

D. cellulose.

https://dl.doubtnut.com/l/_bLkyek8CrmDv
https://dl.doubtnut.com/l/_iusb7vAMC3mA


Answer: c

Watch Video Solution

344. Assertion . No sencondary groth takes place in monocots. Reason.

Secondary growth is not related to cambium.

A. both are ture with reason being correct explantion.

B. both true but reason in not correct explanation.

C. assertion true but reason is wrong.

D. both are wrong

Answer: c

Watch Video Solution

345. in plants lateal roots arise from

https://dl.doubtnut.com/l/_iusb7vAMC3mA
https://dl.doubtnut.com/l/_kPX2ZE3PPSaq
https://dl.doubtnut.com/l/_p4l7kuofHDsK


A. epidermis

B. hypodermis

C. endodermis

D. pericycle.

Answer: d

Watch Video Solution

346. which tissue gives rise to secnodary growth

A. apical meristem

B. adventitious root

C. axillary bud

D. vascular cambium.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_p4l7kuofHDsK
https://dl.doubtnut.com/l/_2p4sT6oA0wUE


347. other names of cork,cork cambium and sencondary cortex ar5e

A. phellem,phellogen and phelloderm

B. phellogen, phellem and phelloderm

C. pelloderm, phellem and phellogen

D. phelloderm, phellogen and phellem.

Answer: a

Watch Video Solution

348. pick up the correct statement

A. spring wood is otherwise called late wood

B. autumn wood is otherwise called early wood

C. in old trees, the heart wood is involved in conduction of water

https://dl.doubtnut.com/l/_2p4sT6oA0wUE
https://dl.doubtnut.com/l/_9UnphFmM3xm0
https://dl.doubtnut.com/l/_jqmd0B3XJ6bx


D. cambial cells present between primary xylem and primary pholem

constitute the intrafascicular cambium.

Answer: e

Watch Video Solution

349. pick up the wrong differneces between dicot and monocot root 

A. b,d

B. a,c

C. a,d

D. a,b

Answer: c

W t h Vid S l ti

Character Dicot Root Monocot Root

Activity of pericycle −Lateral root prodcution −secondary growth and c

Vascular bundle −Diarch to tetrarch −Polyarch

Cambium −Lateral, development −absent

Pith −Well developed −Poorly developed

https://dl.doubtnut.com/l/_jqmd0B3XJ6bx
https://dl.doubtnut.com/l/_LZJVZ7eQjFf4


Watch Video Solution

350. In grasses, the type of cells which help in transpiration and rolling of

leaves repectibely are

A. dumb-bell shaped cells and empty colourless cells.

B. lenticels and mesophyll cells

C. normal epidermal cell and guard cells

D. bulliform cellsand bean- shaped cells.

Answer: a

Watch Video Solution

351. secondary growth in dicot plants is mediated by

A. cork cambium

B. vascular cambium

https://dl.doubtnut.com/l/_LZJVZ7eQjFf4
https://dl.doubtnut.com/l/_xWWDdHjarYuB
https://dl.doubtnut.com/l/_5CQCyG5NMVzO


C. wound cambium

D. both A and B

Answer: d

Watch Video Solution

352. Cortex is the region found between

A. endodermis and vascular bundles.

B. epidermis and stele.

C. preicycle and endodermis

D. endodermis and pith.

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_5CQCyG5NMVzO
https://dl.doubtnut.com/l/_Xt68JOvL60bC


353. the baloon- shaped structuces called tyloses

A. are linked to ascent of sap through xylem vessels.

B. originate in the lumen of vessels.

C. chararcteise the sapwood

D. are extensions of xylem parenchyma cells into vessels.

Answer: d

Watch Video Solution

354. As secondary growth proceeds, in a dicot stem, the thickness of

A. sapwood increses

B. heartwood increses

C. both sapwood and heartwood increase

D. both sapwood and heartwood remain the same.

https://dl.doubtnut.com/l/_U1LToBtX69Pw
https://dl.doubtnut.com/l/_bURUgLbo0JYa


Answer: b

Watch Video Solution

355. Indentify the wrong statement in context of heartwood

A. Orgainc compounds are deposited in it

B. it is highly durable

C. It conducts water and minerals efficently

D. it comprises dead elements with highly lignified walls.

Answer: c

Watch Video Solution

356. Which of the following is made up of dead cells

A. xylem parenchyma

https://dl.doubtnut.com/l/_bURUgLbo0JYa
https://dl.doubtnut.com/l/_T8EQjIKx9aOk
https://dl.doubtnut.com/l/_o1PpewQcJ8UW


B. collenchyma

C. phellem

D. phloem

Answer: c

Watch Video Solution

357. The vascular cambium normally gives rise to

A. phelloderm

B. primary phloem

C. secondary xylem

D. periderm.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_o1PpewQcJ8UW
https://dl.doubtnut.com/l/_KPbfKaE7M70a


Check Your Grasp

1. Closing cells are found in

A. stomata

B. sieve

C. lenticels

D. wounded areas.

Answer: c

Watch Video Solution

2. Amount of secondary xylem as compared to secondary phloem formed

every year is

A. Equal

B. 8-10 times

https://dl.doubtnut.com/l/_3wtnWuw8MvY4
https://dl.doubtnut.com/l/_hU4E6HPNNdmT


C. half

D. 4-5 times.

Answer: b

Watch Video Solution

3. heartwood is absent even in very old trunk of

A. Quercus and pinus

B. salix and morus

C. mangifera and Dalbergia

D. populus and salix.

Answer: d

View Text Solution

https://dl.doubtnut.com/l/_hU4E6HPNNdmT
https://dl.doubtnut.com/l/_quFn5N4un8f7


4. wood of Dalbergia consists of

A. 90-95% vessels

B. 90-95% tracheids

C. 50-60% vessels and 4- 50% tracheids

D. vessels, tracheids and parenchyma in equal pro portions.

Answer: a

Watch Video Solution

5. heteroxylous wood occurs in

A. angisoperms

B. gymnosperms

C. Pteridophytes

D. winteraceae, Tetracentraceae Trohondendraceae.

https://dl.doubtnut.com/l/_aTl5t1GNIfYw
https://dl.doubtnut.com/l/_YrYNwrtt18yl


Answer: a

Watch Video Solution

6. Protective layer found at the site of abscission is

A. parenchymatous

B. collenchymatous

C. sclerenchymatous

D. suberised

Answer: d

Watch Video Solution

7. hockey handle is prepared from the wood of

A. salix

https://dl.doubtnut.com/l/_YrYNwrtt18yl
https://dl.doubtnut.com/l/_16nMK2hIR4C4
https://dl.doubtnut.com/l/_Dqc1Fm0mWW91


B. morus

C. picea

D. phytelephs.

Answer: a

Watch Video Solution

8. Unsunken stomata found in crypts belong to

A. Banyan

B. mango

C. nerium

D. sunflower

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_Dqc1Fm0mWW91
https://dl.doubtnut.com/l/_BobHXVEgjHH8
https://dl.doubtnut.com/l/_AndMjjaLRCen


9. An epistomaic leaf is

A. sunflower

B. maize

C. nymphaea

D. calotropis

Answer: c

Watch Video Solution

10. isobilateral leaf is characterised by

A. similarly green two surfaces

B. anphistomatic nature

C. undifferentiated mesophyll

D. all the above.

https://dl.doubtnut.com/l/_AndMjjaLRCen
https://dl.doubtnut.com/l/_yeLxVT9UST5M


Brain Teasera Ii

Answer: d

Watch Video Solution

1. plant cells involved in secretion and absorption of solutes are

A. Glandular cells

B. Transfer cells

C. Active cells

D. Juncation cells.

Answer: b

Watch Video Solution

2. Thick irregular but permeable walls occur in

https://dl.doubtnut.com/l/_yeLxVT9UST5M
https://dl.doubtnut.com/l/_G9ijqVGT7m5j
https://dl.doubtnut.com/l/_HAgjCZPEHOsL


A. sulereides

B. fibres

C. transfer cells

D. tracheides

Answer: c

Watch Video Solution

3. Transfer cells occur in

A. xylem parenchyma

B. phloem parenchyma

C. epithelium

D. all the above

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_HAgjCZPEHOsL
https://dl.doubtnut.com/l/_fM2Ve50k88V6


4. Structure sumilar to transfer cells occurs in

A. antipodal cells

B. central cell of embryo sac

C. filiform apparatus of oosphere and synergids.

D. all the above.

Answer: c

Watch Video Solution

5. A flowering plant without companion cells in its phloem is

A. Austrobaileya

B. magnolia

C. Eucalyptus

https://dl.doubtnut.com/l/_fM2Ve50k88V6
https://dl.doubtnut.com/l/_1znvGrsRAsms
https://dl.doubtnut.com/l/_PQLg3HT5gfvF


D. Ricinus.

Answer: a

Watch Video Solution

6. Stereome is

A. vascular tissue

B. phloem

C. collenchyma

D. mechanical tissue.

Answer: d

Watch Video Solution

7. stereome comprises

https://dl.doubtnut.com/l/_PQLg3HT5gfvF
https://dl.doubtnut.com/l/_7F6rpyXr6GPx
https://dl.doubtnut.com/l/_XFesmwUzU3Rr


A. sclerenchyma

B. collenchyma

C. non- living cells of vascular tissue

D. all the above.

Answer: d

Watch Video Solution

8. which is true.

A. all sclereides are living

B. fibre are generally dead but living protoplasts occurs in a few.

C. fibres are always dead cells.

D. sclereides are generally living but dead sclereides occur in some.

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_XFesmwUzU3Rr
https://dl.doubtnut.com/l/_KpnB0Xu50Qg0


9. A plant in which fibres remain living for upto 20 years is

A. tramarix aphylla

B. casarina equisetifalia

C. capparis decidua

D. mangifera indica.

Answer: a

View Text Solution

10. which is possible

A. septate fibres

B. septate sclereides

C. compound sieve plates

https://dl.doubtnut.com/l/_KpnB0Xu50Qg0
https://dl.doubtnut.com/l/_IPt4beViShdo
https://dl.doubtnut.com/l/_jBqKzdufwKht


D. all the above

Answer: a

View Text Solution

11. grape vine (vitis) possesses

A. septate fibres

B. very short tracheids

C. Elongated sclereides

D. all the above.

Answer: c

View Text Solution

12. Septate sclereides occur in pereskia in

https://dl.doubtnut.com/l/_jBqKzdufwKht
https://dl.doubtnut.com/l/_MZNREFjpB7d6
https://dl.doubtnut.com/l/_QxcUD06D2H3p


A. pith and cortex

B. xylem

C. phloem

D. pericycle.

Answer: b

View Text Solution

13. An angiosperm having monarch xylem is

A. casuarina

B. Trapa

C. strychnos

D. Urtica

Answer: b

View Text Solution

https://dl.doubtnut.com/l/_QxcUD06D2H3p
https://dl.doubtnut.com/l/_26uvD4w8WUD0


14. In Trapa, monarch xylem occurs in

A. stem

B. Root

C. petiole

D. lamina

Answer: d

View Text Solution

15. phellogen arises from

A. an outer layer of cortex

B. Epidermis

C. phloem

https://dl.doubtnut.com/l/_26uvD4w8WUD0
https://dl.doubtnut.com/l/_CBSybcvn8PtO
https://dl.doubtnut.com/l/_ifa7aeoWXvWa


D. all the above.

Answer: a

Watch Video Solution

16. the plant in which phellogen develops from phloem is

A. punica

B. vitis

C. berberis

D. all the above.

Answer: d

Watch Video Solution

17. in Quercus, phellogen develops from

https://dl.doubtnut.com/l/_ifa7aeoWXvWa
https://dl.doubtnut.com/l/_ChkuQokKKWx3
https://dl.doubtnut.com/l/_GlTxyObQFlCU


A. Epidermis

B. Hypodermis

C. outer cortex

D. pericycle

Answer: a

Watch Video Solution

18. the cells forming phellogen are.

A. collenchymatous

B. paraenchymatous

C. parencymatous or collenchymatus

D. Recently divided cortical cells.

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_GlTxyObQFlCU
https://dl.doubtnut.com/l/_ASKhP5RJjBSS


19. what is presnet just outside the vascular cambium

A. oldest secondary xylem

B. youngest secondary phloem

C. primary phloem

D. youngest secondary xylem

Answer: d

Watch Video Solution

20. Youngest heartwood is found

A. in the centre

B. just outside the sapwood

C. just inner to sapwood

https://dl.doubtnut.com/l/_ASKhP5RJjBSS
https://dl.doubtnut.com/l/_oNfjSQsXyqvc
https://dl.doubtnut.com/l/_Fbtpy1u8cxDO


D. just outside the primary xylem

Answer: c

Watch Video Solution

21. oldest phloem occurs

A. nearest the vascular cambium

B. nearest the oldest secondary xylem

C. on the inner side of phloem

D. on the outer side of phloem

Answer: d

Watch Video Solution

22. oldest phloem is

https://dl.doubtnut.com/l/_Fbtpy1u8cxDO
https://dl.doubtnut.com/l/_NGJboQwsTsAl
https://dl.doubtnut.com/l/_rauSwyhRyF4V


A. primary phloem

B. secondary phloem

C. crushed phloem

D. intermediate phloem.

Answer: a

Watch Video Solution

23. oldest xylem is

A. on the outside of xylem

B. in the centre

C. in the heartwood

D. in the sapwood.

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_rauSwyhRyF4V
https://dl.doubtnut.com/l/_ek4GmFqRyVtJ


24. thylosis is intrusion of a

A. sieve tube

B. Resin duct

C. vessels

D. all the above.

Answer: c

Watch Video Solution

25. tylasoid is intrusion of a

A. structure into parenchyma

B. parenchyma into strutre other than tracheary element.

C. parenchyma into tracheary element

https://dl.doubtnut.com/l/_ek4GmFqRyVtJ
https://dl.doubtnut.com/l/_T1Dr8sycuynX
https://dl.doubtnut.com/l/_D36rNQLc2N6n


D. annular ingrowth into a cell.

Answer: b

View Text Solution

26. the scientist who developed the science of dendrochronology is

A. Eames

B. Esau

C. fahn

D. douglas.

Answer: d

Watch Video Solution

27. included cork is cork generally formed oin

https://dl.doubtnut.com/l/_D36rNQLc2N6n
https://dl.doubtnut.com/l/_uR9jFOJlxMcB
https://dl.doubtnut.com/l/_I63Hh5Ei1tUS


A. cortex

B. pericycle or interfascicular parenchyma

C. Xylem

D. pith

Answer: c

Watch Video Solution

28. included or intraxylary cork develops from

A. vascular cambium

B. wood parenchyma

C. medullary rays

D. parenchymatous pericycle.

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_I63Hh5Ei1tUS
https://dl.doubtnut.com/l/_P7mCKB4WitNw


29. islands of phloem are found in the wood of strychnos. This is due to

A. development from wood parenchyma

B. differentiation form vascular ray

C. intrusion of phloem through vascular ray

D. formation form separated cambial strip.

Answer: d

View Text Solution

30. islands of parenchyma are embedded in wood of

A. urtica

B. Entada

C. chenopodium

https://dl.doubtnut.com/l/_P7mCKB4WitNw
https://dl.doubtnut.com/l/_Ib55vVBVBeDA
https://dl.doubtnut.com/l/_l8MGTXIz8eAB


D. Artemesia

Answer: a

View Text Solution

31. vascular cambium cuts off both xylem and phloem on the inner side in

A. ficus

B. Entada

C. Orobanche

D. Quercus.

Answer: b

View Text Solution

32. wood with specific gravity of less than 0.2 is

https://dl.doubtnut.com/l/_l8MGTXIz8eAB
https://dl.doubtnut.com/l/_fWe6MSnHi7Bt
https://dl.doubtnut.com/l/_A6c1Vr3LcE8k


A. bombax

B. populus

C. ochroma

D. Olea.

Answer: c

Watch Video Solution

33. wood with specific gravity of less than 0.05 occurs in

A. ochroma

B. olea laurifalia

C. xylia dolabriformis

D. Aeschynomene hispida.

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_A6c1Vr3LcE8k
https://dl.doubtnut.com/l/_kOKxYGMAc2dh


34. stomata without subsidiary cells are

A. anonmocytic

B. anisocytic

C. actinocytic

D. cyclocytic

Answer: a

Watch Video Solution

35. diacytic stomata possess subsibiary cells.

A. parallel to guard cells.

B. in rings around guard cells

C. At right angles to guards cells

https://dl.doubtnut.com/l/_kOKxYGMAc2dh
https://dl.doubtnut.com/l/_9rhInzIDhUAj
https://dl.doubtnut.com/l/_c8Mpj2BrWNIz


D. unequal

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_c8Mpj2BrWNIz

